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Instructions for the Candidates
Write your roll number in the space provided on the top of
this page.
This paper consists of sixty (60) multiple-choice type of
questions, out of which the candidate would be required to
answer any fifty (50) questions. In the event of the candidate
attempting more than fifty questions, the first fifty questions
attempted by the Candidate would be evaluated.
At the commencement of examination, the question booklet
will be given to you. In the first 5 minutes, you are requested
to open the booklet and compulsorily examine it as below :
(1) Tohave access to the Question Booklet, tear off the paper
seal / polythene bag on the booklet. Do not accept
a booklet without sticker-seal / without polythene bag
and do not accept an open booklet.
Tally the number of pages and number of questions in
the booklet with the information printed on the cover
page. Faulty booklets due to pages/questions missing
or duplicate or not in serial order or any other
discrepancy should be got replaced immediately by a
correct booklet from the invigilator within the period
of 5 minutes. Afterwards, neither the Question Booklet
will be replaced nor any extra time will be given.
After this verification is over, the Test Booklet Number
should be entered on the OMR Sheet and the OMR
Sheet Number should be entered on this Test Booklet.
The Series of this booklet is X, make sure that the series
printed on OMR Sheet and Answer Sheet No. is same as
that on this booklet. In case of discrepancy in Series and
Answer Sheet no., the candidate should immediately report
the matter to the Invigilator for replacement of the Test
Booklet/OMR Sheet.
Each item has four alternative responses marked (1), (2), (3)
and (4). You have to darken the circle as indicated below on
the correct response against each item.
Example : ®P @ 5 @
where (3) is the correct response.
Your responses to the items are to be indicated in the OMR
Sheet given inside this Booklet only. If you mark your
response at any place other than in the circle in the OMR
Sheet, it will not be evaluated.
Read instructions given inside carefully.
Rough Work is to be done in the end of this booklet.
If you write your Name, Roll Number, Phone Number or put
any mark on any part of the OMR Sheet, except for the space
allotted for the relevant entries, which may disclose your
identity, or use abusive language or employ any other unfair
means such as change of response by scratching or using
white fluid, you will render yourself liable to disqualification.
You have to return the Original OMR Sheet to the invigilators
at the end of the examination compulsorily and must not
carry it with you outside the Examination Hall. You are,
however, allowed to carry original question booklet on
conclusion of examination.
Use only Black Ball point pen.
Use of any calculator or log table etc., is prohibited.
There are no negative marks for incorrect answers.
In case of any discrepancy in the English and Hindi versions,
English version will be taken as final.
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Note

X-00

Paper — I

: o This paper contains Sixty (60) multiple-choice questions, each question carrying two (2) marks.

e (Candidate is expected to answer any Fifty (50) questions.
¢ In case more than Fifty (50) questions are attempted, only the first Fifty (50) questions will be
evaluated.

When verbal and non-verbal messages are contradictory, it is said that most people believe

in
(1) indeterminate messages (2) verbal messages
(3) non-verbal messages (4) aggressive messages

The typical feature of an information-rich classroom lecture is in the nature of being
(1) Sedentary (2) Staggered
(3) Factual (4) Sectoral

Expressive communication is driven by
(1) Passive aggression

(2) Encoder’s personality characteristics
(3) External clues

(4) Encoder-decoder contract

Positive classroom communication leads to
(1) Coercion (2) Submission

(3) Confrontation (4) Persuasion

Classroom communication is the basis of
(1)  Social identity

(2) External inanities

(3) Biased passivity

(4)  Group aggression

Effective communication pre-supposes

(1) Non-alignment (2) Domination
(3) Passivity (4)  Understanding
2
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(1) SeTE/3mEdeT () TEgo
(3) AHAT-EEAT 4 FTF

5. ohRY GUYYT fohHeRT MR € 2
(1) HHISTh e
(2) dTer et

(3) ARSI
(4) OTieH U
6. WA HUNOT § Uged § I& HHT ST &
(1) eI (2) "
(3) EEA (4) <y
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The next term in the following series
YEB, WFD, UHG, SKI, _? will be
(1) TLO (2) QOL
(3) QLO 4 GQP

If AiscodedasC,MasI, NasP,SasO,Ias A,PasN,Eas M, O as E and C as S, then
the code of COMPANIES will be

(1)  SPEINMOAC (2) NCPSEIOMA
(3) SMOPIEACN 4) SEINCPAMO

Among the following, identify the continuous type of data :
(1)  Number of languages a person speaks

(2) Number of children in a household

(3) Population of cities

(4) Weight of students in a class

Ali buys a glass, a pencil box and a cup and pays T 21 to the shopkeeper. Rakesh buys a
cup, two pencil boxes and a glass and pays ¥ 28 to the shopkeeper. Preeti buys two
glasses, a cup and two pencil boxes and pays I 35 to the shopkeeper. The cost of 10 cups
will be

(1) 40
2) %60
(3) %80
@ Z70

Out of four cities given below three are alike in some manner while the fourth one is
different. Identify the odd one

(1) Lucknow

(2) Rishikesh

(3) Allahabad

(4) Patna

Given below are some characteristics of reasoning. Select the code that states a
characteristic which is not of deductive reasoning :

(1)  The conclusion must be based on observation and experiment.

(2) The conclusion should be supported by the premise/premises.

(3) The conclusion must follow from the premise/premises necessarily.
(4) The argument may be valid or invalid.

The missing term in the series 1, 4, 27, 16, ?, 36, 343, ... is
() 30 (2) 49
3) 125 4) 81

4
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e YEB, WED, UHG, SKI, ? ¥ 37TeT g g
() TLO (2) QOL
(3) QLO 4) GQP

TCAFBFCEMHIENFPE SHOL IFALEPHFNEEFME OFET
3T C 1 S &, @ COMPANIES 1 &< &I

(1)  SPEINMOAC (2) NCPSEIOMA
(3) SMOPIEACN 4) SEINCPAMO

fAfefEd o | Fad TR o ST &l Ted e

(1) U AT gRT Sl ST Hehe{ ATell JTaTe i G
(2) UHERH T B A

(3) VTR B SIS

(4) U HEH BEI B AT

3Tl 5 U MR & T 21 H Ueh T, U Urdel SR 3 Ush 7 GIET | ThHT F THASR T
T 28 H U &Y, I URgeT S 3R T o9 GRS | Wi = gFRR | ¥ 35 | §F T, U 69
31T 31 Ufget e @RS | 10 Ul T Jod e

(1) T40

2) %60

(3) T80

4) %70

T ST T 9R IRl § @ A R T Rl 9 0 UhEEE €, Saieh e 98T 3TN § | SHeh
TEEH BT |

(1) <ETs

(2) TR

(3) IOMRETR

4 g

I 7k o P faeiamd 5 1 § | Frifehd § @ 39 % 1 9A B S ek deh ol gt
'_ﬁgfa?ﬂ?ﬂ%

(1) Tepd Yeqor e g9 W STETd g A |

(2) TTohd mR-aTEE/ATEET R THTEd BT 1T |

(3) Te=pd IaEa: SUR-aTRy/aERT ¥ FeherT amey |

(4) T oY ST Y & HHATE |

e 1, 4,27, 16, 2, 36,343, ... G B N IR &
(1) 30 (2) 49
(3) 125 4 81
5 P.T.O.
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Men and woman may have different reproductive strategies but neither can be considered
inferior or superior to the other, any more than a bird’s wings can be considered superior
or inferior to a fish’s fins. What type of argument it is ?

(1) Biological (2) Physiological

(3) Analogical (4) Hypothetical

Among the following propositions two are related in such a way that they cannot both be
true but can both be false. Select the code that states those two propositions.

Propositions :

(a) Every student is attentive.

(b) Some students are attentive.

(c) Students are never attentive.

(d) Some students are not attentive.

Codes :
(I) (a)and (b) (2) (a)and (c)
(3) (b)and (c) 4) (c)and (d)

Given below are two premises ((a) and (b)). From those two premises four conclusions (i),
(1), (ii1) & (iv) are drawn. Select the code that states the conclusions validly drawn from
the premises (taking singly or jointly.)
Premises : (a) Untouchability is a curse.

(b) All hot pans are untouchable.
Conclusions : (i) All hot pans are curse.

(i1)) Some untouchable things are hot pans.

(iii)) All curses are untouchability.

(iv) Some curses are untouchability.

Codes :
(1) (i) and (ii) (2) (i) and (iii)
(3) (iii) and (iv) (4) (i) and (iv)

If the statement ‘None but the brave wins the race’ is false which of the following
statements can be claimed to be true ?

Select the correct code :

(1)  All brave persons win the race.

(2) Some persons who win the race are not brave.

(3) Some persons who win the race are brave.

(4) No person who wins the race is brave.

If two standard form categorical propositions with the same subject and predicate are
related in such a manner that if one is undetermined the other must be undetermined, what
is their relation ?

(1) Contrary (2) Subcontrary
(3) Contradictory (4) Sub-altern
6



14. Hfectat o qHul Ht USHATHS HATAT STeRT-3TeT &1 Tehell &, ofeh fohar o off gaY & et
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(1) it (2) ¥RR FaHEr
(3) HEHERH (4) HAHH

15. foeAifed deharerl # 31 30 UK Fatyd & o6 o 31 el Tél & Wb &, fohd o <A1 TTord @ Hehd
€ | 3T B H I B ST 3T 3 ThATHIT B T4 § |
TH- AT
(a) VI BT Srad BT |
(b) FT I AT eI ¢ |
(c) B T off Ffet T&l & ¢ |
(d) FS D Iarad Tal & € |

Qg—d‘:
() () 3R (b) (2) (a) 3R (c)
(3) () I (c) @) (c) 3 (d)

16. = I THaTe (a 3R b) []RE T E | 37 4T qebaredl ¥ 9R 6 (i), (i), (iii) 3 (iv) Femer
MTE | 39 FH BT T B ST THATHT I (Thet 3T T T F) T (60T i ST & |
TBAE: (a) STIYAA U AT E |

(b) T TH AT YT |
frepe . () T T S AT € |
(i) T YT dist T AT € |
(iii) Tt TMIIMT SYTAT € |
(iv) FD NPT STGYFAT & |

E TR
() (@) 3R Gi) (2) (i) ¥R (iii)
(3) (iii) 3R (iv) 4) (i) 3 (iv)
17. 3 FF 3R g & dfesh o) Al & g § faord &id1 & Tord &, af f=iteed § 9 68 %o
I GE T T Hehell & 2
Tl e BT TFT B |

(1) Tt 9R A 3re | foott gid & |

(2) drgH fosEl 8 oot $w AR 9K Té e € |
(3) P A A g B oot B €, IR Ed € |
(4) <re ¥ foerdt g gt g A 9] el BT e |

18. I THM STYT A1 94T & 31 A FRUeT dh-aTe 39 UehR Gard ¢ foh 3R Ueh el ear
&, o g ot rfrifea g, ot ST ey T AT € 2
(1) 3@ (2) AT
(3) IrdtaRId (4) o
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The table below embodies data on the sales revenue (¥ in lakh) generated by a
publishing house during the years 2012-15 while selling books, magazines and
journals as three categories of items. Answer questions 19 — 21 based on the data

contained in the table.

Sales Revenue (% in lakh)
Year—
2012 2013 2014 2015
Items |
Journals 46 47 45 44
Magazines 31 39 46 51
Books 73 77 78 78
Total

The number of years in which there was an increase in revenue from at least two

categories of items, is

(1 0
@ 1
3 2
“4 3

If the year 2016 were to show the same growth in terms of total sales revenue as the year

2015 over the year 2014, then the revenue in the year 2016 must be approximately :

(1) %194 lakh
(2) %187 lakh
(3) %172 lakh
4) %177 lakh

In 2015, approximately what percent of total revenue came from books ?

(1) 45%
2) 55%
3) 35%
@) 25%



e € 1 et § A 2012-15 % SR TR YBT9T U FRT UEAshT, Ut qUr e
=1 fagel 1 A= Afrat § faget Tora (e v H) e st e e § | arferer § oo
el & MR T UTT 19 ¥ 21 HIaF |

g — foreml T (@@ wuw)

1 7T 2012 2013 2014 2015
SR 46 47 45 44
RIEEDS 31 39 46 51
TETH 73 77 78 78

E3l

19. fopc ool # %A | A &1 71 5l AT W T | i 8% 2
(H 0
2 1
(3 2
“4 3

20. 3T T 2016 % IR Fot [osht TG | T a9 2014 0 Jor1 § a9 2015 | g8 Ihg & e
ghg e &1, a a9 2016 % IR A5G | Jfeg T -1 g Afey 2

(1) R 194 =
2) R187 =
3) Rl172<E
4 R177 =

21. =9 2015 | GEAHT S oI5kt T FoT ST T Tehe=T HTeTa 9T UTe g2 2
(1) 45%
2) 55%
(3) 35%
@) 25%
X-00 9 P.T.O.
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A University professor maintains data on MCA students tabulated by performance
and gender of the students. The data is kept on a computer hard disk, but accidently
some of it is lost because of a computer virus. Only the following could be
recovered :

Number of MCA Students
erformance
- Average | Good | Excellent | Total
Gender |
Male 10
Female 32
Total 30

Panic buttons were pressed but to no avail. An expert committee was formed, which
decided that the following facts were self evident :

(a) Half the students were either excellent or good.

(b) 40% of the students were females.

(c)  One-third of the male students were average.

Answer questions 22 — 24 based on the data given above :

What proportion of female students are good ?

(1) O (2) 0.25

3) 0.50 4) 0.75
Approximately, what proportion of good students are male ?
(1) 0 (2) 0.73

(3) 043 4) 027

How many female students are excellent ?

(1) 0 (2) 8

3) 16 “4) 32

Read the following two statements :

I: Information and Communication Technology (ICT) is considered a subset of
Information Technology (IT).

II: The ‘right to use’ a piece of software is termed as copyright.

Which of the above statement(s) is/are CORRECT ?

(1) BothIandII (2) Neither I nor II

(3) I only (4) Tonly

Which of the following correctly lists computer memory types from highest to lowest
speed ?

(1) Secondary Storage; Main Memory (RAM); Cache Memory; CPU Registers
(2) CPU Registers; Cache Memory; Secondary Storage; Main Memory (RAM)
(3) CPU Registers; Cache Memory; Main Memory (RAM); Secondary Storage
(4) Cache Memory; CPU Registers; Main Memory (RAM); Secondary Storage

Which of the following statement(s) is/are TRUE ?
S1 : The decimal number 11 is larger than the hexadecimal number 11.
S2 : In the binary number 1110.101, the fractional part has the decimal value as 0.625.

(1) SI only (2) S2only
(3) Both S1 and S2 (4) Neither S1 nor S2
10
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U9 —
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e d
T 10
Hfget 32
gl 30

4Tk ST i Il T, Tohq ST IS AT el g3 | Uk [aRiust |iAfd 1 e fohan e, i
T T T 7o 3 FAiTehd oo o 9med o

(a) 7Y BE AT AN SFHE ATITE I |

(b)  40% B HigaTd o |

(c) TOT BT § Uh-{feTs ad TR H & |

T ST T 3fiehe & YR W UTT 22 ¥ 24 H I T |

AfgeAT SETeT T feohaT ST aTd 399 ¢ 2

(1) 0 2) 0.25
(3) 0.50 4) 0.75
STH ST BT AT ST 3T 89 € 2

(L 0 2) 073
(3) 043 4) 0.27
fohat Afeet SE S € 2

(L 0 2) 8
(3) 16 4) 32
TeAfetfaa ST ot b ug -

[: Yo Ud GOR Wi (38.1.2T) i ot Ueifieht (377E.21.) S Sugq=ad M= ST & |
[: 9Ream & fhd B & STA-SsR’ & HIut-Tge (FalhR GRI) FHel ST & |
SRS T | @ i e WE e/ €2

(1) TATIFarIl (2) FELITHN

(3) FHEAAI (4) el

frfefEd & 9 9 |1 FFge BER TR A ¥ STIad ¥ a9 TG (T1E) 1 geieg T ¢ 2
(1) Thedl RS, B9 TERT (IRTUR,), H3 FAER, A7, FTored
(2) Wiy, A, H GURY, Fhedl WS, BT BERT (IR TTA,)
(3) WUty Iy, B HART, 99 AU (SR TTN,), Yohedl RSt
(4) 9 AEN, WO, AT, B OERY (IRTTA,); Tehed RS

frferfiaa o = 91/8 wuT T2 e 2
S1 : SIMCAT TEAT 11 TSy 9= 11 Y aer & |
S2 : fgamum @& 1110.101 % 3T¥Teh HIT 1 SOHeAT A 0.625 € |
(1) wae Sl (2) HaAS2
(3) S1TATS2 (4) A& S1, TES2
11 P.T.O.
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With regard to a word processing software, the process of combining static information in
a publication together with variable information in a data source to create one merged
publication is called

(1) Electronic mail (2) Data sourcing

(3) Mail merge (4) Spam mail

DVD technology uses an optical media to store the digital data. DVD is an acronym for
(1) Digital Vector Disc (2) Digital Volume Disc
(3) Digital Versatile Disc (4) Digital Visualization Disc

Assertion (A) : Sustainable development is critical to well being of human society.

Reason (R) : Environmentally sound policies do not harm the environment or deplete
the natural resources.

Choose the correct code :

(1) Both (A) and (R) are correct and (R) is the correct explanation of (A).

(2) Both (A) and (R) are correct, but (R) is not the correct explanation of (A).
(3) (A)istrue and (R) is false.

(4) (A)is false and (R) is true.

The dominant source of pollution due to oxides of nitrogen (NOy) in urban areas is

(1) road transport (2) commercial sector

(3) energy use in industry (4) power plants

Which of the following is not a water-brone disease ?
(1) Typhoid (2) Hepatitis
(3) Cholera (4) Dengue

Which of the following is a characteristic of Web2.0 applications ?
(1)  Multiple users schedule their time to use Web2.0 applications one by one.

(2) Web2.0 applications are focused on the ability for people to collaborate and share
information online.

(3) Web2.0 applications provide users with content rather than facilitating users to
create it.

(4)  Web2.0 applications use only static pages.

12
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(1) HeH uaed (2) @tTeges &9
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frfafad § 9 STot SIa-30 T8t & 2

(1) <CE®ES (2) TUeRle"

(3) = @ =7

fefetEd & | 9 2.0 SFUERT i DI T Foeioar ¢ 2
(D) %%%aﬁ%wméaz.o%m%fmwwqr%awmwﬁaﬁﬁ
|
(2) 3T 2.0 F SFAN AN I ST H AR eIe a1 Hl SEH-TEH H Bl Gl T
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(3) 39 2.0 HT AT O YT HRAAT & 7 {6 STeh! T o T GohReb &Il & |
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34. In which country, the recent international agreement on phasing out Hydro Fluoro
Carbons (HFCs) was signed ?

(1) Rwanda (2) Morocco
(3) South Africa (4) Algeria

35. Which of the following natural hazards is not hydro-meteorological ?
(1) Snow avalanche (2) Seaerosion

(3) Tropical cyclone (4) Tsunami

36. Which of the following are the demerits of globalisation of higher education ?
(a) Exposure to global curriculum
(b) Promotion of elitism in education
(c) Commodification of higher education
(d) Increase in the cost of education

Select the correct answer from the codes given below :

Codes :
() (a)and (d) (2) (a),(c)and (d)
(3) (b),(c)and (d) 4) (a), (b), (c) and (d)

37. Which of the following statements are correct about deemed universities ?
(a) The Governor of the State is the chancellor of deemed universities.
(b) They can design their own syllabus and course work.
(c) They can frame their own guidelines regarding admission and fees.
(d) They can grant degrees.

Select the correct answer from the codes given below :

Codes :
(1) (a), (b) and (c) (2)  (b), (c) and (d)
(3) (@), (c)and (d) 4 (@), (b), (c) and (d)
38. Indian government’s target for power production from small hydro projects by the year
2022 is
(1) 1 Giga-Watt (2) 5 Giga-Watt
(3) 10 Giga-Watt (4) 15 Giga-Watt

X-00 14



34. T 39 A A & T BE FAR Hed (HFCs) 1 TR0Eg dlich d T i adl Sarieeia

TR T B’ 6T 7T 2
(1) Tarer (2) HFR
(3) TfRI0T STRIHT (4) efostiran

35. T=ATarEd Wehide STusTet § § i 9 eTegl-HaH T8 § 2
(1) Tex wgeH (2) IS FeE
(3) SUTHCEIRT Tshard @) F
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39. Which of the following statements are correct ?

(a) Rajya Sabha is a permanent House which can be dissolved only during national
emergency.

(b) Rajya Sabha does not represent the local interests of the States.

(c) Members of the Rajya Sabha are not bound to vote at the dictates of the states they
represent.

(d) No Union territory has a representative in the Rajya Sabha.

Select the correct answer from the codes given below :

Codes :
() (a)and (d) (2) (b)and (c)
(3) (b),(c) and (d) 4) (a), (b), (c) and (d)

40. Which of the following are not necessarily the immediate consequences of the
proclamation of the President’s Rule in a State ?

(a) Dissolution of the State Assembly.

(b) Removal of the Council of Ministers in the State.

(c) Takeover of the State administration by the Union Government.
(d) Appointment of a new Chief Secretary.

Select the correct answer from the codes given below :

Codes :
() (a)and (d) (2) (a), (b) and (¢)
(3) (a),(b), (c) and (d) (4) (b)and (c)

41. Instead of holding the office during the pleasure of the President who among the following
hold(s) office during good behaviour ?

(a) Governor of a State (b) Attorney General of India

(c) Judges of the High Court (d) Administrator of a Union Territory
Select the correct answer from the codes given below :

Codes :

(1)  (a) only (2)  (c) only

(3) (a)and (c) 4) (), (b), (c) and (d)

42. The purpose of value education is best served by focussing on
(1)  Cultural practices prevailing in the society.
(2) Norms of conduct laid down by a social group.
(3) Concern for human values.

(4) Religious and moral practices and instructions.
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43. Assertion (A) : Learning is a life long process.
Reason (R) : Learning to be useful must be linked with life processes.
Choose the correct answer from the following code :
(1) Both (A) and (R) are true and (R) is the correct explanation of (A).
(2) Both (A) and (R) are true, but (R) is not the correct explanation of (A).
(3) (A)is true, but (R) is false.
(4) (A)is false, but (R) is true.

44. Effectiveness of teaching has to be judged in terms of
(1) Course coverage
(2) Students’ interest
(3) Learning outcomes of students
(4)  Use of teaching aids in the classroom

45. In which teaching method learner’s participation is made optimal and proactive ?
(1) Discussion method (2) Buzz session method
(3) Brainstorming session method (4) Project method

46. One of the most powerful factors affecting teaching effectiveness is related to the
(1)  Social system of the country (2) Economic status of the society
(3) Prevailing political system (4) Educational system

47. Assertion (A) : Formative evaluation tends to accelerate the pace of learning.
Reason (R) : As against summative evaluation, formative evaluation is highly
reliable.
Choose the correct answer from the following code :
(1) Both (A) and (R) are true and (R) is the correct explanation of (A).
(2) Both (A) and (R) are true, but (R) is not the correct explanation of (A).
(3) (A)is true, but (R) is false.
(4) (A)is false, but (R) is true.

48. Which of the following set of statements represents acceptable propositions in respect of
teaching-learning relationships ? Choose the correct code to indicate your answer.
(i)  When students fail in a test, it is the teacher who fails.
(1) Every teaching must aim at ensuring learning.
(i1i1)) There can be teaching without learning taking place.
(iv) There can be no learning without teaching.
(v) A teacher teaches but learns also.
(vi) Real learning implies rote learning.

Codes :
(1) (i), (iii), (iv) and (v) (2) (@), (ii), (iii) and (V)
(3) (i), (iv), (v) and (vi) @) (@), (), (v) and (vi)
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In doing action research what is the usual sequence of steps ?
(1) Reflect, observe, plan, act (2) Plan, act, observe, reflect
(3) Plan, reflect, observe, act (4)  Act, observe, plan, reflect

Which sequence of research steps is logical in the list given below ?

(1) Problem formulation, Analysis, Development of Research design, Hypothesis
making, Collection of data, Arriving at generalizations and conclusions.

(2) Development of Research design, Hypothesis making, Problem formulation, Data
analysis, Arriving at conclusions and data collection.

(3) Problem formulation, Hypothesis making, Development of a Research design,
Collection of data, Data analysis and formulation of generalizations and conclusions.

(4) Problem formulation, Deciding about the sample and data collection tools,
Formulation of hypothesis, Collection and interpretation of research evidence.

Below are given two sets — research methods (Set-I) and data collection tools (Set-II).
Match the two sets and indicate your answer by selecting the correct code :

Set -1 Set — I1
(Research Methods) (Data Collection Tools)

a.  Experimental method 1. Using primary and secondary sources
b.  Ex post-facto method ii.  Questionnaire
c.  Descriptive survey method iii.  Standardized tests
d.  Historical method iv.  Typical characteristic tests
Codes :

a b c d
(1) ii i i v
2) i v il i

3 u w1 v
4 1 v i i

The issue of ‘research ethics’ may be considered pertinent at which stage of research ?
(1) At the stage of problem formulation and its definition

(2) At the stage of defining the population of research

(3) At the stage of data collection and interpretation

(4) At the stage of reporting the findings.

In which of the following, reporting format is formally prescribed ?
(1) Doctoral level thesis (2) Conference of researchers
(3) Workshops and seminars (4) Symposia

The principal of a school conducts an interview session of teachers and students with a
view to explore the possibility of their enhanced participation in school programmes. This
endeavour may be related to which type of research ?

(1) Evaluation Research (2) Fundamental Research

(3) Action Research (4) Applied Research
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Read the following passage carefully and answer questions from 55 to 60 :

The last great war, which nearly shook the foundations of the modern world, had little
impact on Indian literature beyond aggravating the popular revulsion against violence and
adding to the growing disillusionment with the ‘humane pretensions’ of the Western World.
This was eloquently voiced in Tagore’s later poems and his last testament, Crisis in Civilisation.
The Indian intelligentsia was in a state of moral dilemma. On the one hand, it could not help
sympathising with England’s dogged courage in the hour of peril, with the Russians fighting
with their backs to the wall against the ruthless Nazi hordes, and with China groaning under the
heel of Japanese militarism; on the other hand, their own country was practically under military
occupation of their own soil, and an Indian army under Subhas Bose was trying from the
opposite camp to liberate their country. No creative impulse could issue from such confusion of
loyalties. One would imagine that the achievement of Indian independence in 1947, which came
in the wake of the Allies’ victory and was followed by the collapse of colonialism in the
neighbouring countries of South-East Asia, would have released an upsurge of creative energy.
No doubt it did, but unfortunately it was soon submerged in the great agony of partition, with its
inhuman slaughter of the innocents and the uprooting of millions of people from their homeland,
followed by the martyrdom of Mahatma Gandhi. These tragedies, along with Pakistan’s
invasion of Kashmir and its later atrocities in Bangladesh, did indeed provoke a poignant
writing, particularly in the languages of the regions most affected, Bengali, Hindi, Kashmiri,
Punjabi, Sindhi and Urdu. But poignant or passionate writing does not by itself make great
literature. What reserves of enthusiasm and confidence survived these disasters have been
mainly absorbed in the task of national reconstruction and economic development. Great
literature has always emerged out of chains of convulsions. Indian literature is richer today in
volume, range and variety than it ever was in the past.

Based on the passage answer the following questions from 55 to 60 :

55. What did Tagore articulate in his last testament ?
(1) Offered support to Subhas Bose.
(2) Exposed the humane pretensions of the Western World.
(3) Expressed loyalty to England.
(4) Encouraged the liberation of countries.

56. What was the stance of Indian intelligentsia during the period of great war ?
(1) Indifference to Russia’s plight.
(2) They favoured Japanese militarism.
(3) They prompted creativity out of confused loyalties.
(4) They expressed sympathy for England’s dogged courage.

57. Identify the factor responsible for the submergence of creative energy in Indian literature.
(1) Military occupation of one’s own soil.
(2) Resistance to colonial occupation.
(3) Great agony of partition.
(4) Victory of Allies.

58. What was the aftermath that survived tragedies in Kashmir and Bangladesh ?
(1)  Suspicion of other countries (2) Continuance of rivalry
(3) Menace of war (4) National reconstruction

59. The passage has the message that
(1) Disasters are inevitable.
(2) Great literature emerges out of chains of convulsions.
(3) Indian literature does not have a marked landscape.
(4) Literature has no relation with war and independence.

60. What was the impact of the last great war on Indian literature ?
(1) It had no impact.
(2) It aggravated popular revulsion against violence.
(3) It shook the foundations of literature.
(4) It offered eloquent support to the Western World.
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MANAGEMENT
Paper — 11

Note : This paper contains fifty (50) objective type questions of two (2) marks each. All
questions are compulsory.

1.  Indicate the correct code for the scope of managerial economics from the following :
a.  Demand Analysis
b.  Production and Cost Analysis
c.  Pricing and Investment Decisions
d.  Factor pricing Decisions
e.  Economic Environmental Analysis
Codes :
(1) ab,c,d (2) b,c,de
(3 ab,c,e (4) a,cde

2.  Price elasticity of demand for a product is measured by

(1) Ed:A—ng—PP ) Ed:%+%|3
_AP . Q _AP AQ

(Where Ed = elasticity of demand, Q = Quantity, P = Price and A = represents change)

3. Which one of the following will be the appropriate pricing strategy for a new product
expecting an expanding market ?

(1) Monopoly pricing (2) Skimming pricing
(3) Penetrating pricing (4) Differential pricing

4.  Match the items of the List — | with those of the List — Il and suggest the correct code from
the following :

List -1 List - 11

I. Loss Leader a.  Locational price differentials
ii.  Unchanged Pricing b.  Products with high initial demands
iii.  Basing Point Pricing c.  Product line pricing
iv.  Skimming Pricing d.  Oligopoly pricing
Codes :
i ii i v
Q) a b c d
2 c d a b
3 d b a ¢
4 c a b d
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10.

In case the firm makes varying investments on the different investment projects, the
appropriate project evaluation technique would be, which one of the following ?

(1) Awverage annual rate of return technique
(2) Pay back period technique

(3) Net present value technique

(4) Profitability index technique

According to Henry Fayol, which one of the following combinations of qualities are
required in a manager ?

(1) Physical, mental, experience, educational and conceptual

(2) Technical, human, conceptual, mental and moral

(3) Physical, mental, moral, educational, technical and experience
(4) Mental, moral, conceptual, educational, technical and experience

Neo-classical organisation theory emphasises on which one of the following ?
(1) Flat structure of organisation (2) Tall structure of organisation
(3) Coordination by hierarchy (4) Unity of command

According to Graicuna’s formula of span of management, if a superior has three
subordinates, what number of cross-relationships would be ?

(1) three (2) six
(3) nine (4) eighteen

In Reddin’s “Tridimensional Grid’, which one of the following is a less effective style of
leadership ?

(1) Developer (2) Missionary
(3) Executive (4) Bureaucrat

Assertion (A) : Attribution theory is based on relationship between personal perception
and interpersonal behaviour.

Reasoning (R): Since most ‘whys’ are not directly observable, people must depend
upon cognitions, particularly perception.

Codes :

(1) (A)isright but (R) is wrong.

(2) (A)iswrong but (R) is right.

(3) Both (A) and (R) are right but (R) does not explain (A).
(4) Both (A) and (R) are right and (R) explains (A).
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11.

12.

13.

14.

15.

16.

Arrange the following steps of training and development process in the right sequence :
a Need analysis

b.  Validation

c.  Evaluation

d Implement the programme

e.  Instructional design

(1) aedcb (2) a,ecb,d

(3) aeb,dc (4) ab,ecd
Which one of the following is related to ‘Standard of Personnel’ ?
(1) Job Specification (2) Job Description
(3) Job Design (4) Job Evaluation

If an employee desires to pay more than the minimum required contribution under the
Employees’ Provident Fund and Miscellaneous Provisions Act, 1952, then

(1) employer shall also pay an amount equal to the total contribution of employee.
(2) employer shall pay only half of the additional contribution of employee.

(3) employer is under no obligation to pay the additional contribution.

(4) the act is silent regarding this matter.

Under the Employees’ State Insurance Act, 1948, sickness benefit can be paid for which
one of the following maximum periods ?

(1) 45 days in two consecutive benefit periods.
(2) 66 days in two consecutive benefit periods.
(3) 91 days in two consecutive benefit periods.
(4) 180 days in two consecutive benefit periods.

Which one of the following laws is enacted by the Central Government and enforced by
the State Governments ?

(1) The Employees State Insurance Act, 1948

(2) The Employees’ Provident Fund and Miscellaneous Provisions Act, 1952
(3) Factories Act, 1948

(4) The Mines Act, 1952

The cost of external equity can be most appropriately computed as per the
(1) Earnings price ratio (2) Dividend price ratio
(3) Dividend price plus growth ratio (4) Capital assets pricing model
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17.

18.

19.

20.

For the following items in List — I and List — 11, indicate the correct code after matching them :
List—1 List— 11
I. Net income approach for capital a.  Modigliani, M. and Miller M.H.
structure

ii.  Net operating income approach for b.  Robert Bruner
capital structure

iii.  lrrelevance of capital structure for the c.  Ezra Soloman
value of the firm.

iv. FRICT analysis for capital structure d. David Durand

Codes :

i i i v
Q) a b c d
2 d c a b
3 d c b a
4 b a d c

Which one of the following is not a feature of ‘Preference Shares’ ?

(1) Prior claim on income / assets of the company over equity shareholders.
(2) Redeemability after certain period.

(3) Possessing voting rights on important issues of the company.

(4) May possess the right to participate in surplus profits of the company.

The basic consideration for dividend pay-out for a company excludes which one of the
following ?

(1) Investment opportunities for the company

(2) Expectations of the shareholders of the company
(3) Legal and financial restrictions for the company
(4) Stability of the dividend considerations

For the following two statements of Assertion (A) and Reasoning (R) indicate the correct code :

Assertion (A) : Shareholders Wealth Maximisation (SWM) and not the profit
maximisation is an appropriate and operationally feasible financial
management goal.

Reasoning (R): There exists a principal-agent relationship between the shareholders and
the management of the company.

Codes :

(1) (A) and (R) both are correct.

(2) (A)is correct but (R) is incorrect.
(3) (A)isincorrect but (R) is correct.
(4) (A) and (R) both are incorrect.
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21.

22.

23.

24,

Which one of the following components is not the part of broad marketing environment ?
(1) Technological environment

(2) Task environment

(3) Demographic environment

(4) Natural environment

The Coco Cola Company markets a wide range of different beverage products including
bottled water, soft-drinks, juices and sports drinks. Each product appeals to a different
segment. This is an example of which type of market offering ?

(1) Differentiated marketing
(2) Target marketing

(3) Undifferentiated marketing
(4) Intensified marketing

Temporarily reducing prices to increase short-run sales is an example of which one of the
following ?

(1) Segmented pricing (2) Promotional pricing

(3) Dynamic pricing (4) Geographical pricing

Match the items of List — | with the items of List — Il and indicate the code of correct

matching :

List—1 List— 11

a.  Brand elements I. The marketer’s vision of what the brand must
be and do for consumers.

b.  Brand line ii.  All products, original as well as line and
category extensions, sold under a particular
brand name.

c.  Brand personality iii. Those trademarkable devices that serve to
identify and differentiate the brand.

d.  Brand promise iv.  The specific mix of human traits that may be
attributed to a particular brand.

Codes :

a b c d

@ i v [

2 i i i v

3 i i v i

4) v dii i [
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25.

26.

217.

28.

29.

Statement — 1 : In developing advertising programme marketing managers must always
start by identifying the target market and buyer motives.

Statement—11: A company may run multiple ad campaigns at the same time, each
emphasizing different aspects of its brand and service.

(1) Only Statement — 1 is correct.

(2) Only Statement — Il is correct.

(3) Both Statements — I and Il are correct.
(4) Both Statements — I and 11 are incorrect.

Match the items of List — | with the items of List — Il and select the code of correct
matching with regard to forecasting models for operations :
List— 1 List—11

(Model Type (name)) (Description)
a.  Delphi technique I. Causal quantitative model
b.  Economic modeling ii.  Quantitative model (Naive)
c.  Exponential Smoothing iii.  Qualitative model
Codes :

a b C

@ i i il
(2) iii i i
(3) i i [
(4) i i [

In which one of the following situations, a product-oriented layout is appropriate ?
(1) A medical clinic

(2) Anautomated carwash

(3) A work centre for welding, heat treating and painting

(4) A home plumbing repair business.

A graphic tool to trace the interaction of several workers with one machine is termed as
(1) Gang process chart (2) Flow process chart
(3) Activity chart (4) Operation chart

Which one of the following is a technique of statistical quality control used for product
control ?

(1) R-chart (2) Sampling plan
(3) np-chart (4) control-chart
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30.

31.

32.

33.

34.

The decision-criterion in which a decision-maker selects an alternative that maximizes H
(criterion of realism) = [a x (maximum in column)] + [(1 — &) x (minimum in column)] is
called

(1) Laplace criterion (2) Hurwicz criterion
(3) Wald’s criterion (4) Bayesian criterion

Which one of the following expressions relates to an event which represents the
occurrence of either A or B or both ?

(1) AuB (2) ANB
3)

>

N B (4) (AnB)U(ANB)

A Bernoulli process has all but which one of the following properties ?

(1) Each trial has two possible outcomes.

(2) The probability of a success on any trial remains fixed over time.

(3) The probability of success on any trial is equal to the probability of failure.
(4) Trials are statistically independent.

Statement — 1 : The product of coefficient of correlation, standard deviation of variable
‘X’ and Standard deviation of variable ‘Y’ gives the measure of
covariance between X and Y variables.

Statement — 11 : The product of coefficient of correlation between X and Y variables and
the ratio between standard deviation of X variable to standard deviation
of Y variable measures the slope of the regression line of X on Y
variable.

Codes :

(1) Both the Statements are correct.

(2) Both the Statements are incorrect.

(3) Statement — I is correct while Statement — 11 is incorrect.
(4) Statement — I is incorrect while Statement — Il is correct.

Statement—1 : Both the probable error and standard error of the coefficient of
correlation are different.

Statement — 11 : When a sampling distribution of mean is prepared by taking small sized
samples from a normally distributed population, the distribution takes
the shape of normal distribution.

Codes :

(1) Both the Statements are correct.

(2) Both the Statements are incorrect.

(3) Statement — I is correct while Statement — I1 is incorrect.
(4) Statement — I is incorrect while Statement — Il is correct.
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35.  Which one of the following is not the major characteristics of internet ?
(1) Open (2) Expensive
(3) Global (4) Untrusted

36. Assertion (A) : Private foreign capital lends to flow to the high profit areas rather than
to the priority sectors.

Reasoning (R): One of the important limitations to utilize the foreign capital is the
absorptive capacity of the recipient country.

Codes :

(1) (A) and (R) both are correct and (R) is the correct explanation of (A).
(2) (A) and (R) both are correct but (R) is not the correct explanation of (A).
(3) (A)is correct whereas (R) is incorrect.

(4) (R)is correct whereas (A) is incorrect.

37. Consider the following statements and identify the correct code of true statements :

(@ When an organization’s survival is threatened and it is not competing effectively,
retrenchment strategies are often needed.

(b) Turnaround strategy is used when an organization is performing well but has not yet
reached a critical stage.

(c) Divestment strategy involves selling the business or setting it up as a separate
corporation.

(d) Liquidation strategy involves closure of business which is no longer profitable.
Codes :

(1) Only (a), (b) and (c) are correct.

(2) Only (b), (c) and (d) are correct.

(3) Only (a), (c) and (d) are correct.

(4) Only (a) and (d) are correct.

38. Statement—1 : Most businesses start off as “Question Marks”, in that they enter a high-
growth market in which there is already a market leader.

Statement — I1: A “Star” is the market leader in a high-growth market, but it does not
necessarily provide much cash.

(1) Statement — I is correct but Statement — 11 is incorrect.
(2) Statement — Il is correct but Statement — | is incorrect.
(3) Both the Statements are incorrect.

(4) Both the Statements are correct.
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39. Match the items of List — I with List — Il and identify the code of correct matching :

List—1 List—11
a.  Consistent actions one time I. A perspective
b. It reflects the decision of the firm to offer ii. A ploy
particular products or services in
particular markets.
c. A manoeuvre intended to outwit iii. A position
competitor
d. A view of what the organization is to iv. A pattern
become
Codes :
a b C d
Q) iv i i i
2 iv i i il
(3) iv i i [
4) i ivo i [

40. Apple computers uses a differentiation competitive strategy that emphasizes innovative
product with creative design. This is an example of

(1) Functional strategy (2) Business strategy
(3) Operating strategy (4) Product strategy

41. Match the items of List — | with the items of List — Il and select the code of correcting

matching :
List—1 List—11
a.  Richard Cantillon I Entrepreneur must accept the challenge
and should be willing hard to achieve
something
b.  Joseph A. Schumpeter ii.  Entrepreneurs are all those persons who
are engaged in economic activity.
c. J.K. Golbraith iii.  Entrepreneur is a person who introduces
innovation and change.
Codes :
a b C
(a) iii i i
2 i i i
(3) i il i
(4) ii i i
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40.
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42.

43.

44,

45.

46.

47.

Total Quality Management, job redesigning, new techniques of doing things and
management by consensus are the examples of which one of the following ?

(1) Opportunistic entrepreneurship
(2) Administrative entrepreneurship
(3) Incubative entrepreneurship

(4) Mass entrepreneurship

Under technology and quality upgradation support to help manufacturing MSMEs buy
energy efficient technologies for production, what percentage of the actual expenditure is
provided as financial support by the Government of India ?

(1) 75% 2) 60%
(3) 50% (4)  25%

Which one of the following is not a personal characteristic of an entrepreneur ?
(1) Innovative (2) Hardworking
(3) Practical (4) Submissive

Which one of the following is the most insignificant reason for sickness in SSI sector ?
(1) Power shortage (2) Lack of demand
(3) Management problems (4) Equipment problems

Statement — | : Ethical principles tend to be broader than legal principles.
Statement — 11 : Laws and ethics are closely related.

Codes :

(1) Statement — I is correct but Statement — 11 is incorrect.

(2) Statement — Il is correct but Statement — | is incorrect.

(3) Both the Statements are correct.

(4) Both the Statements are incorrect.

Assertion (A) : The state shall endeavour to protect and improve the environment and
to safeguard the forest and wildlife of the country.

Reasoning (R): The Directive principles of state policy of the Indian Constitution
Command the State to ensure protection and improvement of
environment and to safeguard forest and wildlife.

Codes :

(1) (A)is correct but (R) is not correct.

(2) (R) is correct but (A) is not correct.

(3) Both (A) and (R) are correct and (R) is the right explanation of (A).
(4) Both (A) and (R) are correct but (R) is not the right explanation of (A).
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42.

43.

44,

45.

46.

47.
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- T
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(3) ST FH T |
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(4) TH(A) 3R (R) T &, AfF (R), (A) Tl 9t A @ € |
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48.

49.

50.

Match the items of List — I with List — I and identify the code of correct matching :

List—1 List—11
(CSR Models) (Emphasis)
a.  Ethical Model i Corporate responsibilities limited to
private owners.
b.  Statist Model ii.  Voluntary commitment by companies to
public welfare
c.  Liberal Model iii. State ownership and legal requirements
determine corporate responsibilities.
d.  Stakeholder Model iv. Companies respond to the need of
customers, communities, etc
Codes :
a b C d
Q) i il [ iv
(2 ii i i v
(3) ii i iv il
4 i i i v

Which one among the following is not correct about J. J. Irani Committee’s
recommendations on Company Law (2005) :

(1)  2/5™ of the board of a listed company should comprise of independent directors.
(2) Introduce the concept of One Person Company (OPC).

(3) Allow corporations to self-regulate their affairs.

(4) Disclose proper and accurate compilation of financial information of a corporation.

A business should act ethically for which of the following reasons ?
(@ To prevent harm to the general public

(b) To meet stake-holder expectations

(c) To protect their own employees

(d) To maximize profit of the business

Codes :
(1) (@), (b) and (c) only (2) (b), (c)and (d) only
(3) (a), (c)and (d) only (4) (a) and (d) only
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MANAGEMENT
PAPER - 111

Note : This paper contains seventy five (75) objective type questions of two (2) marks each. All
questions are compulsory.

1.  From the following two statements of Assertion (A) and Reasoning (R), indicate the
correct code :

Assertion (A) : The quantity of a product demanded invariably changes inversely to
changes in its price.

Reason (R) : The price effect is the net result of the positive substitution effect and
negative income effect.

Codes :

(1) (A) and (R) both are correct.

(2) (A)isincorrect but (R) is correct.

(3) (A)is correct but (R) is incorrect.

(4) (A)and (R) both are incorrect.

2. Match the items of the List — I with that of the List — Il and suggest the correct code from

the following :
List—1 List—11

I. Cost function a.  Kinked demand
ii.  Supply function b.  Isoquants
iii.  Production function c. Engineering method
iv.  Oligopoly d.  Factor prices
Codes :

i i i v
1 c d a b
2 b a c d
3 a b d c
4 d c b a

3. Which one of the following combinations may not render the investment multiplier
inapplicable ?
(1) Net imports, undistributed profits and taxation.
(2) Excess stocks of consumption goods, debt cancellation and savings.
(3) Price inflation, public investment programmes and strong liquidity preference.
(4) Closed economy, unemployment in the economy, constant marginal propensity to
consume.
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4.  Match the items of the List — I with that of the List — Il and suggest the correct code from
the following :
List—1 List—11

i. Competitive Parity a.  Variations in Advertising
ii.  Promotional Elasticity of Market b.  Level advertising
iii.  Optimal promotional mix c.  Advertising expenditure decision
iv.  Contra-cycle advertising d.  Marginal equivalency of media outlay
Codes :

i i v
Q) b c a d
2 a b c d
(3 b a d c
4 d a b c

5. Match the following and indicate the code of correct matching :
List—1 List— 11

a.  Classical conditioning 1. Response-Stimulus learning
b.  Operant conditioning ii.  Stimulus-Response learning
c.  Cognitive theory iii.  Stimulus-Stimulus learning
d.  Social learning iv.  Modelling process
Codes :

a b C d
@ aodoivoo
(2 ii i i v
3) i i v
4) iv dii i [

6.  Boss offers an employee a promotion which has huge increase in salary along with a new
title. It also requires employee to work ten hours more per week along with shifting to a
remote place. It is an example of which one of the following ?

(1) Approach conflict

(2) Approach — Approach conflict
(3) Approach — Avoidance conflict
(4) Avoidance — Avoidance conflict

7. Which one of the following is not an example of semantic barrier ?
(1) Poorly chosen words and phrases
(2) Faulty translation
(3) Use of symbols that have various meanings
(4) Guarding against certain type of information
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10.

11.

12.

13.

14.

Assertion (A) : Equity theory of work motivation is based on social exchange process,
in which individuals make contributions (inputs) and expect certain
rewards (outcomes).

Reason (R) : Individuals decide whether or not a particular exchange is satisfactory
by comparing their inputs and outcomes with those of others and try to
rectify inequality.

Codes :

(1) (A)is correct but (R) is not correct.

(2) (A)is not correct but (R) is correct.

(3) Both (A) and (R) are correct and (R) is right explanation of (A).

(4) Both (A) and (R) are correct but (R) is not the right explanation of (A).

Which one of the following methods of performance appraisal involves ranking
employees from best to worst in a particular trait ?
(1) Graphic Rating Scale method (2) Forced Distribution method

(3) Paired Comparison method (4) Alternation Ranking method
Which one of the following is not a basic feature of ‘Scanlon Plan’ ?

(1) Philosophy of competition (2) Identity

(3) Competence (4) Involvement system

A union of electricians working in different industries is called by which one of the
following ?

(1) Craft Union (2) Industrial Union

(3) General Union (4) National Union

Which one of the following is not correct about voluntary retirement scheme in public
enterprises ?

(1) It was designed to help enterprises rationalise their surplus manpower.

(2) Salary for the purpose of VRS consists of basic pay only.

(3) Benefits are in addition to money that has accrued to provident fund.

(4) Benefit is tax-free severance payment.

In case Mutual Funds invest in the securities whose price variations suggest the general
price movement, it is called

(1) Hedge Fund (2) Index Fund

(3) Growth Fund (4) Balanced Fund

Indicate the correct code of the combinations of the following methods commonly used
for capital budgeting

a.  Payback Period

b.  Profitability Index

c.  Utility theory

d. Internal rate of return

Codes :

(1) abandc (2) b,candd
(3) abandd (4) a,candd
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15.

16.

17.

Match the items of List — I with those of List — Il and indicate the correct code from the
following :
List—1 List— 11
I. Sale of existing firm to the management Reverse synergy
ii.  Financing acquisition with substantial b.  Management buyout
secured borrowings
iii. Firms demerged worth more to other c.  Reverse capital budgeting
firms
iv. Cash inflows on demerger at present at d.  Leveraged buyout
the sacrifice in form of cash out-flow on
transfer of division/asset

o

Codes :

i i i v
Q) a b c d
2 c a b d
(3 b d a c
4 b a d c

NPV and IRR methods of investment evaluation may give divergent accept-reject
decisions on account of which of the following ?

a.  Varying initial investment

b.  Divergent cash flows from the investment projects
c.  Disparity in the lives of the investment projects
Indicate the correct code of their combinations

Codes :

(1) aandbonly (2) bandconly

(3) aandconly (4) a/bandcall

Match the items of List — | with the items of List — Il and select the code of correct

matching :

List—1 List— 11

a.  Latent demand i More consumers would like to buy the
product than can be satisfied.

b.  Full demand ii.  Consumers may be attracted to products that
have undesirable social consequences.

c.  Overfull demand iii. Consumers may share a strong need that

cannot be satisfied by an existing product.

d.  Unwholesome demand iv. Consumers are adequately buying all
products put into the market place.

Codes :

a b c d
(1) iii i iv i
(2) iii v i i
(3) iv i i i
4) i i i v
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15. gt — | 71 G — |1 1 et Y T FeiTehd | 9 T8t e B aa o

=i - | = - 1
i, ToRME Y % vEEE e a. Towid wetkar
ii.  ohIEl 3Ty WA SURT o 91 fod Wiva b, WY quiRg
g
iii. 3TeTT g aTell ®H qEd wHt & ford st ¢, fawia st ssite
AT & |
iv. DWW 3Tl % HROT Aht devere d. foerse queg
% W H @ & HROT g9 § ferek |
TR AR
?:. e aee -
i i i v
Q) a b c d
2 c a b d
3 b d a c
4 b a d c

16. AT godish st TN, T 371, 3T, 31R, fafert fAifepd o fohes SRt Wighd-31aiigha ot
H 7T B W € 2
a.  3TOTI-3Te TR FHerer
b.  THeRT uRASHIST ¥ =T Tt vaTe
c. Toorer uRAsHIst & Sfemehel H STEHdT

Ik Tl o Wl B B TAT N
%
(1) Feeta3itb 2) FFetb ERC
(3) et asiRC (4) a, b 3R cod
17. g - | & &1 61 e Gt — || 3 781 F Y 3R Gel Hel & e Hl 99 Y ;
= - | =t - 1
a. TS AN i, Oqe BT ST OF @ qorr § SeIR B SITes STHieR]
TR TR €
b.  goT =M ii. ST S SCART % Ul ST & Tehd & Stk Sraise
TSI TRoT B € |
C.  UUTTYeh T iii. ST PIE ST AT Tehe H T & ST [hdr oMM Scams
Y T A B ST Fh |
d.  erEmias T iv. ST ISR A SAR TS S a%qy TE A H SR
H
a b C d
@ i i v i
@ @i v i i
@) v i i i
@ i i i v
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18.

19.

20.

21.

Match the items of List — | with the items of List — Il and select the code of correct

matching :
List—1 List— 11
(Medium of Mass (Limitations)
Communication)
a.  Outdoor i. Relative high cost; increasing consumer
resistance
b.  Yellow pages ii.  Over production could lead to runaway costs
c.  Brochures iii.  High competition; long ad purchase lead time;
creative limitations
d.  Telephone iv.  Limited audience selectivity; creative limitations
Codes :
a b C d
Q) iv i i [
2 i i v
(3) i iivi
4) iv i [ i

“The manufacturer threatens to withdraw a resource or terminate a relationship if
intermediaries fail to cooperate”, refers to which one of the following channel power ?

(1) Referent power (2) Coercive power
(3) Legitimate power (4) Reward power

Assertion (A) : A company’s positioning and differentiation strategy must change over
the product life cycle.

Reason (R) : A company’s product, market and competitors change over the product
life cycle.

Codes :

(1) (A)is correct, but (R) is incorrect.

(2) (A)isincorrect but (R) is correct.

(3) Both (A) and (R) are correct, but (R) is not the right explanation of (A).
(4) Both (A) and (R) are correct, and (R) is the right explanation of (A).

The following information is given :

Expected usage of 50,000 units in a period of 250 days

Cost of processing an order ¥ 20 per order

Carrying cost per unit ¥ 0.50 for the period lead time on an order : 5 days
Company wants to keep a reserve supply of two day’s usage.

How many units will be included in the reorder point ?

(1) 2000 (2) 1000

(3) 400 (4) 1400
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18.

19.

20.

21.

Gl — |t T 1 AT G — |1 6 787 | Y 3T TEt e B a5 A

= - | = - 1

(FEER HTeAw) (aRaTd)
a. 9@l i, oM €9 H o9 AN, Sgdl SUMIERT HfoRig
b. Il ufsrst i,  erfd ScEe AT B AT Y T ¢ |
c. SR (foeror giegepn) iii.  S=F WA, @ fOROA R ol 9EE; geed

Blieiiig

d. oefeE iv. T IR SRUTETHAT, Yo qRETHTE
ET

a b c d
@ v i Qi
@ i i i v
@ i i v
@ v i i i

“Iie HEALS HEAN hid | THH @ & ol faf-Hidr GEree anfud o 37er GaY Gae e i
AR AT & 17, T W (Tt 1 9 g fagum qrem v 9 2 2

(1) GRw v (2) sTediE® Wi
(3) faferama wifery (4) TEEHR i

AfTHUT (A)  : SR ST 6 % A1 {ohdl St @ et den fode ot STeed agerdt
T

FHRT (R) : ﬁﬁﬁ%ﬁmwﬁw%ﬁm%w,waﬁrmﬁﬁﬁuﬁaﬁq
|

FT:

(1) (A) Tl g (R) 9& Tl & |

(2) (A) T e, W (R) T T |

(3) (A) 2 (R) 1 Wl &, W (R), (A) T T8t e el ¢ |

(4) (A) 3R (R) 31 W&l & 3iX (R), (A) &l Tl A= T |

f=ifpd T T T T

250 f&= =t 21aty & 50,000 THEAT T STHIT STFT
Tohdlt 3TIST T UTART 1 T ¥ 20 Wi SS9 & |
ety & ferT @ e ufd g T 0.50 € |

foplt 3Tt & e vfshan w9 : 5 157 |

ST 31 5 & STERT Al SRR ST T =Rt § |
(1) 2000 (2) 1000
(3) 400 (4) 1400
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22.

23.

24,

25.

26.

Paper-I111 12

Statement—1 : A variable in the Linear Programming problem representing the unused
quantity of an input resource is called surplus variable.

Statement — Il : Values of the variables in the objective function of the dual of a primary
problem denote shadow prices of the variables.

Codes :

(1) Both the Statements are correct.

(2) Both the statements are incorrect.

(3) Statement — I is correct while Statement — 11 is incorrect.
(4) Statement — I is incorrect while Statement — 1l is correct.

The least amount of time an activity is expected to consume. Which one of the following
relates to the above expression as per PERT language ?

(1) Expected time (2) Most likely time

(3) Optimistic time (4) Pessimistic time

Which one of the following is not covered while considering the types of costs involved in
quality control ?

(1) Preventive costs (2) Manufacturing costs

(3) Inspection costs (4) Failure costs

Match the items of List — I with the items of List — Il and indicate the code of correct
matching :

List— 1 List— 11
a.  The parameters of the distribution are 1. Normal distribution

nandp

b. The mean and the variance of the ii.
distribution are identical

c. The mean and the standard deviation iii.
of the distribution determines central
location and spread respectively.

d.  The graph of the probability density iv.
function of the distribution slopes
downward to the right from its
maximum mean value

Exponential distribution

Binomial distribution

Poisson distribution

Codes :

a b c d
@) iii v i i
2 i i i v
(3) iv i i i
(4) iii i iv i

When a researcher wants to select a representative sample to assess different parameters
from a large sized finite heterogeneous population, which one of the following sampling
techniques is the most appropriate ?

(1) Judgemental sampling (2)
(3) Stratified random sampling 4)

Simple random sampling
Quota sampling

JA-017-17



22. wHuF- | . ot 3TTe TTE St TSRS W Bl 9 Aot @k WM T § =Y
TR =) el AT & |
FHe - || : TRt wmerfier Tm % 59 % IS Uhd B =R 1 Hod =R % DT Jod
FaArr E |
%
(1) S FH T |
(2) S % e ¢
(3) FH— | el ¢, STafeh 2 — || o1 € |
(4) FH— | T §, STarh B — | W E |
23, “foRslt Tfafy T TaE %1 THY @0 S IHE § |7 U TS % STER Efarad et o
T P 9T Geifed & ?
(1) v 99 (2) WEE SFTEE W T ATl T
(3) AR T (4) TR a9
24, AT % YhRI W foaR e GH TuTe (0T § Heteiad 8 9 6 enher Tel fohar S ?
(1) R o (2) fafmror @mT|
(3) TRieTor AN (4)  STEA AN
25. A — | 1 AR o e gt — || 3 ARl ¥ Y 3R e A aret e =9
=it - | = - 1
a. faorsumetn dXp e | i, e faar
b. foeRor & Aen A foeROT URHEE € | il =Rt foeRr
fqeRoT &1 AT qe A foEe wEen il et faaeor
%ﬁﬂfwﬁwﬁwr{wﬁwaﬂﬁ
|
d. TooRoT e/ (FAM) o AT g Uh jv.  9IgEe foeRor
H ARG U SHaT 7 7 A
¢ 3 FeAaT & |
%
a b c d
@ i v i
@ i i i v
@ iv i i i
(4) iii i iv i
26. & HE IMyHAl I MHER H aq faeidg seen § fafr= ueel & qedied w3 & o
TfafAfy ufaeet 9T =Ted &, df Frefatad & & S 9t Uidsel =2 qeh-ich et Sued ari ?
(1) Fotas uiaest aa= (2) TE AGSE UfaReT =TT
(3) TENa A ufaest === (4) THFareT wiaest ==
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27.

28.

29.

30.

31.

Statement—1 : The mean of the sampling distribution of mean is equal to the parameter
value of the population mean.

Statement — Il : Stratified sampling technique is unrestricted probability (random)
sampling technique.

Codes :

(1) Both the Statements are correct.

(2) Both the Statements are incorrect.

(3) Statement — I is correct while Statement — 11 is incorrect.

(4) Statement — I is incorrect while Statement — 1l is correct.

You are given the following information about advertising expenditure and sales :

(X in lakh)
Advertisement (X) | Sales (Y)
Arithmetic mean 10 90
Standard Deviation 3 12

Correlation coefficient between advertising expenditure and sales = 0.80. What is the
likely sales for advertising budget of ¥ 15 lakh ?

(1) 120 lakh (2) 106 lakh

(3) 58 lakh (4) 48 lakh

Assertion (A) : McDonald’s India Pvt. Ltd., the wholly-owned subsidiary of the US
based fast-food giant McDonald’s Corporation, along with Coca-Cola,
is developing a fruit based beverage, to be retailed exclusively at
McDonald’s outlets.

Reason (R) : Organizations rightly try to diversify in order to spread their risks across
several industries.

Codes :

(1) (A) and (R) both are correct and (R) is the right explanation of (A).

(2) (A) and (R) both are correct but (R) is not the right explanation of (A).

(3) (A)is correct but (R) is incorrect.

(4) (R)iscorrect but (A) is incorrect.

Statement — I : Competitors analysis begins with identification of potential competitors.

Statement — Il : An industry analysis gives information regarding probable sources of
competition.

Codes :

(1) Statement — I is correct but Il is incorrect.
(2) Statement — Il is correct but | is incorrect.
(3) Both the Statements are correct.

(4) Both the Statements are incorrect.

Strategic management consists of which one of the following combinations :

(@) Environmental scanning (b) Strategy for outplay

(c) Strategy formulation (d) Strategy implementation
(e) Evaluation and control

Codes :

(1) (a), (b), (c) and (d) only (2) (b), (c), (d) and (e) only
(3) (a), (c), (d) and (e) only (4) (b), (c) and (d) only
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217.

28.

29.

30.

31.

% — | : W % idsel oo feRoT T AIeT ST Ared o Weel Hod & G0 ¢ |
Fo - || : LR Ufdeel T dehieh STfaaid T9Ieaar (Agiese) Uideel wa deit

g
B
(1) A FFATE |
(2) ST FHH e
(3) FH - | el ¢, STafeh o — || 7Te1d & |
(4) FH— | T §, STErh e — | W E |

3TMaeh TarmTa = @ fashl & gy o Fefaiad 9o e §

GUEER:))
famma= (X) fet (Y)
SO AT 10 90
YA e 3 12
T == e fosht & s Gedery o = 0.80.

% 15 ¥ &% Tozia a7 | fopat foshl 2 ot Gre € 2
(1) 1207 2) 1067TE
(3) 58emE (4) 487w

AT (A) : J T, IRA [Tt e FE AheHIogd FURYA H Fe™H HheHesH
e WA FEEET F T A ARA T W S G S e
HAeheHTegd % Qa1 fosht i ux &t forehrT |

R (R) ;TS 31U ST T fadR g ST § e % 59 H AT el & |

%

(1) (A) T (R) I el €, T2 (R), (A) &l A E |

(2) (A) 3R (R) I T&l &, T4 (R), (A) i Fel A el ¢ |

(3) (AW E g (R) T ¢ |

(4) (R) @& e, W (A) T & |

HUAT— | - v} fergeraor Guferd ufqeateat st qg= o |1 YR gl & |
FaT— || : ST forgeAvor uiqeret o G Eidl o HaY § SR a1 § |
B

(1) - | 9el & g F2F — || T § |
(2) FF -1 T T G FFH — | T & |
(3) T FH T |
(4) T FEE AT

RIS TaY EARad B § iF 9 GaH 9 T € ?

(a) TETEROT Th{T (b) Wi St SRR FH T e
(c) =& F&ar (d) =g FEraaa

(e) HTAHA 3T Fmom

FT

(1) ke (a), (b), (c) 2R (d) (2) e (b), (), (d) 3R (e)
(3) = (a), (c), (d) 3R (e) (4) = (b), () 3R (d)

JA-017-17 15 Paper-111



32.

33.

34.

35.

36.

Paper-I111

Michael Porter’s Five Forces Model includes which one of the following combinations ?
(@) Threat of new potential entrants

(b) Threat of substitute product / service

(c) Bargaining power of suppliers

(d) Bargaining power of buyers

(e) Rivalry among current competitors

()  Rivalry among prospective competitors

Codes :
(1) (@), (c), (d), (e) and (f) (2) (a), (b), (d), (e) and (f)
(3) (@), (b), (c), (e) and (f) (4)  (a), (b), (c), (d) and (e)

Which one of the following is not a common motivation of an entrepreneur ?

(1) Desire to maintain the status quo

(2) Search for more rewarding work

(3) Search for personal and professional growth
(4) Desire for independence

The SFURTI programme of the government is to boost production in which one of the
following industries ?

(1) Auto-components industry (2) Industries using renewable energy
(3) Khadi and village industry (4) Construction industry
Match the items of List — | with the items of List — Il and identify the correct code of
combination :
List—1 List— 11

a Entrepreneurship and Dynamic Capitalism 1. A.D. Chandler Jr.
b The Affluent Society ii. J.K. Galbraith
c.  Theory of Economic Development iii.  Joseph Schumpeter
d.  The Dynamics of Industrial Capitalism iv. B.A. Kirchhoff
Codes

a b C d
@ i i i \Y
2 i [ TT Y,
3 iv i i i
4 iv i i i
Statement — | : Entrepreneurs recognize opportunities where others see chaos or

confusion.
Statement — Il : Entrepreneurs bring aggressive capital for the existing business in
traditional market place.

Codes :
(1) Statement— I is correct but Il is not correct.
(2) Statement — Il is correct but I is not correct.
(3) Both the Statements are correct.
(4) Both the Statements are incorrect.

16

JA-017-17



32.

33.

34.

35.

36.

HIEHA U & U et (BIed FIEH) Tieet § FHefeiad 8 § i 91 s ohe € 2
(d) U GIiad TeeTeh T Wl

(b) TIFTI ST/ HT G

(c)  STYfaehdre st HiQaTsT ik

(d)  shamett i FiSaTST wIfeRT

(e) Toemm wfqeqeet & e SrFar

(f) et uiqeeent & e Sdr

FT
(1) (@, (), (d), (e) 3 (f) (2) (@), (b), (@), (e) 3T (f)
(3) (@), (b), (c), (e) 3 (f) 4) (@), (b), (c), (d) 3T (e)

fefefaa & St ot S 9t 31 SRR F&i & ?
(1) Fefefd i ST T H 7=l

(2) AT IV HH i TATT

(3) AR 3R AT fThT st T

(4) Lo B TSI

TEHR FHT TR (TE.UFF, 3R 2. 37E.) FIsed Hefafad 5 & g ST o 3cams= & g 39 &
fow e ?

(1) it (@m%) FHAgS T (2) TSRO SoiT BT SUANT S ATt ST
(3) W& 3R wrEwET (4)  TAoToT 3=
T — | i TR T A o — 1 71T § 3R Tl AA o He B a9
= - | = - 1

a.  UeFRRTY wug SRMITe hivefersn i T dEer SR
b. T UwRII< GEE ii. S Mo
C. =R 3% THMAIHS STAATHS i,  STE® I[ERT
d. T SEAIHERT 3F $SRETet hiueforsd iv. T e
T

a b C d
@ i Qi Qi v
@ i Qi i v
@) iv i i
4 iv i il i
He - | . STRT 3T STHIIAH AT WA &l & ST S8t 31w i Tea el € |
% - || : W ISR | {oer 3adma & St 3T & § Yoil offmer € |
: T4

(=N

(1) -1 E W T T
(2) F=A- Il T E, W | W& Tl & |
(3) T AT |
(4) 3T FHH e §
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37.

38.

39.

40.

41.

42.

Social responsibility of business while appropriating natural resources by a corporate
entity has been recommended in which one of the following ?

(1) Montreal Protocol of 1987

(2) Millennium Development Goals 2008

(3) Sustainable Development Goals 2015 in Global Sustainability Report

(4) UNDP Human Development Report

Disclosure of corporate governance practice and its compliance has been stipulated in
which one of the following ?

(1) Directors’ Responsibility Statement under Section 134 of the Companies Act 2013.
(2) Auditor’s Report

(3) C.A.G. Report

(4) Report of the SEBI and MCA 21

Kumar Mangalam Birla Committee Report, Ramesh Chandra Committee Report, Cadbury
Committee Report primarily focus on which one of the following ?

(1) ethical issues in business practice and marketing practice

(2) health programme of the employees in an organisation

(3) issues relating to corporate governance practice

(4) gender issues in management and equality for all

“The continuing commitment by business to behave ethically and contribute to economic
development while improving the quality of life of the workforce and their families as
well as of the local community and society at large.

This may be attributed rightly to which one of the following ?

(1) ethical responsibility of business

(2) corporate social responsibility

(3) commitment towards employee welfare

(4) compliance with the provisions of the Plantation Workers Act.

Arrange the steps of diagnostic model of human resource management in the correct
sequence from the first to the last. Select the code of correct sequence :

a.  Evaluate

b.  Prescribe

c.  Diagnose

d.  Implement

Codes :

(1) c,b,ad (2) c,b,da
3) ac,db (4) acbd

Which one of the following is a training technique in which trainees act out parts in a
realistic management situation ?

(1) Action learning (2) Role playing

(3) Behaviour modelling (4) Case study
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37.

38.

39.

40.

41.

42.

fdt HRE HUAT FRT WTpias TATEAT FH O Ha 999 Jaqd & qHITe St 6
Treferfaa o @ foras srEitaa foar mn € 2

(1) 1987 = HifFZae UIehic]

(2) weERR e @ 2008

(3) difvaek HumUigaT Rare o Guiovia fasm e 2015

(4) FuAZd aFd g Rae

FRE (FT) I SRR T Uh 0T T ST SUTeH Hefeiad § 9 fmad sfeaad & ?
(1) o AfgFEm, 2013 S GRT 134 & ST R I M9 B

(2) wHRETRIET H ae

(3) T weretEr Wieteh () e

(4) St T UHHLT, 21 H Ui

FAR T foRet WAt Raie, e Fmfd Raie, heast qrafd Raie mefhs &0 9 fFefafad §
T g WHsa g ?

(1) =aE™ R a7 fIuuH FeeR & AT q8

(2) T T B HHEIRET T T HEHT

(3) MRS I FIER T Tl T2

(4) veEE T o S gE qen Tt o T SEeer

“TIHE TR 3R A% 9 ¥ TN & QII-T1e FEae] a2l 37 IRART & e i ot §
YR Fd g AT R AT TG F FIgR A a1 3T T § aeH & S qad
BIEEGIk

TE Trfaraa o & foheeh el ®9 § %007 8§ § 2

(1) =™ % Afae I

(2) PURE WIS I
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Tl 3TTshH ITet e T T HITT :

a.  Hodih
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c. fw=m

d. R

HT

(1) c,b,ad (2) c,
(3) a,cdb (4) ac,

frfefad § & A 9t 98 UTeTor e § e uine] T ardtae gey et § etoer s
€ 2

(1) = arhm (2) i e

(3) TR TS (4) Teafq () ereem
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43.

44,

45.

46.

47.

48.

Match the following and indicate the code of correct matching :

List—1 List—11
a. INTUC I. Bhartiya Janta Party
b. AITUC ii.  Communist Party of India
c. BMS iii.  Indian National Congress
d CITU iv.  Communist Party of India (Marxist)
Codes :

a b C d
@ i i [ iv
(2) iii i i v
(3) i v i [
4) i ivoi i

The agreement arrived at during the course of conciliation proceeding in industrial
disputes is known as

(1) Settlement (2) Award
(3) Reward (4) Accord and sanction

Results of a period that may occur at the initial career entry when the new employee’s
high job expectations confront the reality of a boring, unchallenging job.

This may rightly be attributed to which one of the following ?
(1) Reality Shock (2) Mentoring Shock
(3) Mental upcharge (4) Career upset

The two dominant aspects of industrial relations scene in the modern industrial society are
covered in which one of the following ?

(1) Conflict and conciliation (2) Cooperation and conciliation
(3) Conflict and cooperation (4) Cooperation and codetermination

The decision of the adjudication authority and arbitrator in disputes is termed as
(1) Settlement (2) Award
(3) Reward (4) Accord and approval

In case of a domestic enquiry, which one of the following is not correct about enquiry
officer ?

(1) He has to follow the principles of natural justice.
(2) He can recommend punishment alongwith the report of findings.

(3) Heis generally an officer of the establishment but in some cases enquiry is also held
by some outside agency.

(4) He can take final decision about punishment and issue an order inflicting
punishment.
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43.

44,

45.

46.

47.

48.
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49.

50.

51.

52.

53.

Match the items of List — | with the items of List — Il and select the code of correct

matching :
List—1 List— 11

a.  Core benefit I. Bed, bathroom, towel, desk and closet
b.  Basic product ii.  Clean bed sheet
c.  Expected product iii. Restand sleep
Codes :

a b c
@ i i i
(2 i i [
(3) iii i i
(4) ii i i

Select the correct sequence of steps in setting a pricing policy :
(@) Determining Demand

(b) Analyzing competitors’ Costs, Prices and Offers
(c) Selecting the Final Price

(d) Selecting the Pricing Objective

(e) Estimating costs

(f)  Selecting a pricing method

Codes :

(1) (d), (@), (), (b), (f) and (c)

(2) (@), (e). (b), (d), (f) and (c)

(3) (@), (), (e), (d), (f) and (c)

(4) (@), (b), (c), (d), (e) and (f)

Which one of the following is a digital communications technique that involves improving
visibility and monitoring sentiment within social networks and blogs ?

(1) Email marketing (2) Display advertising

(3) E-PR (4) Search engine optimization

Which one of the following is the report of the company’s strengths and weaknesses
relative to various competitors ?

(1) Competitor value analysis

(2) Customer value analysis

(3) Customer profitability analysis
(4) Customer perceived value

A company prices a 2 litre bottle of its mineral water at ¥ 30 but 60 ml of the same water
in a moisturizer spray for ¥ 75. This is an example of which one of the following pricing
practices ?

(1) Product-Form pricing (2) Customer-segment pricing
(3) Image pricing (4) Location pricing
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49.

50.

51.

52.

53.

Gl — |t T 1 AT G — |1 6 787 | Y 3T TEt e B a5 A

= - | = - 1

a.  IMmIdNE A i, IR, |, difean, 3% 317 e
b.  3THRA 3R ii. 9 el
C. IR 3 i, foam vl
T

a b c
@ i i i
@) i Qi i
@) i i i
@ i Qi
oo FERoT i S T9F ST ST dTet =ROT % Tet 558 1 =T Y
(a) =T FqeRor

(b)  UfcTEEhT T ANT, AT X T BT gyl
(c) 3T Jou = =T

(d) Toa FHERT & T =T

(e) TNTAT T UTFHA

(f) Toa FeRo fafy @ ===

FT

1) (), (@), (e), (b), () #R (c)

2 (@), (), (b), (d), () =R (c)

3) (a), (b), (), (d), (F) #R (c)

@) (a), (), (c), (d), (e) =R (f)

frefafed & @ o fefsieet Gowor qeier ®iF 9t & a9 Tt Jeash 3R s | geadr a
TR AT o guR St § 2

(1) o fauom (2) fommoE weEE

(3) FTULIIR. (4) T SiSmESeH

Tefeiad & 9 i | fafe= wfaereent s g § ST o1 AsTadl aeT AR 6l {ue & ?
(1) wfTees goa et

(2) RS g foveryor

(3) TS TAVEAT foveIyoT

(4) UBH EN HAehiord oo

Tk ST 210 fARer dfe i &1 oY st Siaa T 30 @ §, T AEREsR @ § 347 g ot
60 ml AT i i T 75 Tt € | e Fetatad 8 9 e gea feRr Sreer i s3eo § 2
(1) 3E-TY goo e (2) TSI Hod T

(3) sfa goa faror (4) T geg e
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54.

55.

56.

57.

58.

Assertion (A) : Companies must manage service quality by understanding the effects of
each service encounter.

Reason (R) : Customer’s expectations play a critical role in their service experiences
and evaluations.

Select the correct codes :

Codes :

(1) Both (A) and (R) are correct, but (R) is not the right explanation of (A).
(2) Both (A) and (R) are correct and (R) is the right explanation of (A).

(3) (A)is correct but (R) is incorrect.

(4) (R) is correct but (A) is incorrect.

Statement — I : Direct marketing is a non-interactive marketing system.

Statement — Il : Direct marketing uses one or more media to effect a measurable
response or transaction at any location.

Select the correct code :

Codes :

(1) Both the Statements are correct.
(2) Both the Statements are incorrect.
(3) Only Statement — 1 is correct.

(4) Only Statement — 11 is correct.

Which one of the following refers to “two or more unrelated companies put together
resources or programmes to exploit an emerging market opportunity” ?

(1) Holistic marketing (2) Horizontal marketing system
(3) Hub and spoke system (4) Co-branding

Credit sales of a firm in a certain year amounted to ¥ 12,00,000 and the sundry debtors
outstanding at the beginning and the end of the year amounted to ¥ 1,20,000 and ¥ 80,000
respectively. Indicate the correct code for the debtors turnover ratio and the average
collection period from the following :

(1) 10and 1.2 months (2) 12 and 1 month
(3) 15and 0.8 month (4) 6and 2 months

Inventory control system concerns with which combination of the following :
a.  ABC Inventory system

b.  JIT system

Cc.  Re-ordering system

d.  Qutsourcing system

Codes :
(1) abandc (2) b,candd
(3) abandd (4) acandd
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54.

55.

56.

57.

58.

AWHYA (A) © HUA B TAH FAT 6 GHT S aTel THIET Hl GHSTHT e [urE 6 Jay

YT AT TR |

HRUT (R) . U I TR 3k WAl SFNEl a1 Yodiha H U Hewelqul e 3TaT
FIAE |

T B BT T B

T

(1) (A) 3R (R) IH Tt €, I (R), (A) Tl Tl AR TR € |
(2) (A) 3R (R) 3T et & 3 (R), (A) 1 el AT & |
(3) (A) Wl g, (R) Tod &

(4) (R)TET, (A) T & |

HAA - | : ey fauur ueh TRqREie fagume gorett €

T — || : Tege] Tor feRdl T W SR STIET WO I Widshar St Tied i &
T ueh o1 SH9 21k AreEEt B ST AT ¢ |

TE B BT T R

%

(1) T o T |

(2) S % e €

(3) FaAFT— | TIT |

(4) FHaAFIT— 1 TEE |

Ffeiad & 9 Taeer e 39 feafd | & “as <1 a1 31fueh 3Tefd shufar Ueh SHRA IR
FETER T S1e T o [T 30 HHTEHT 31906 SHRIsHH! i Teh 91 W@t & 17 ?

(1) T9u fauuE (2) et fauom yomedt

(3) & T Wik JoTelt (4) wE-svST

U fHfved o | fRdl ufaer i wrg faska ¥ 12,00,000 & F41 99 % YR SR 3iq # fafay
SATRI | ST TR KA T 1,20,000 @21 T 80,000 € | FEfAREd H ¥ IR SMad ST a2t
3G TET 7y & felT W&t e o

(1) 103R1.29% (2) 123R19E

(3) 153iX0.89® (4) 63R2T®E

T FoT g fefeiad 9 § e HaeH | gafd § 2

a. TS, whoar s

b. e wgla

C. T 3= A & gHa

d. ST i 9 SYCTear G s B g

T

(1) a b3iRc (2) b, c3wd
(3) a ba3iXd (4) a,c3Rd
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59.

60.

61.

62.

63.

64.

The credit policy of a firm is not decided for which combination of the following ?
a. Maximisation of sales

b. Minimisation of bad debt losses

C. Maximisation of shareholder’s wealth

d.  Minimisation of adverse effect on the volume of sales

Codes :

(1) a/bandc (2) b,candd

(3) a,candd (4) abandd

Match the items of List — I with those in List — 1l and indicate the correct code for the following :

List—1 List—11
i. Concentration Banking a.  William J. Baumol
ii.  Optimum cash balance under certainty b.  Cash collection technique
iii.  Playing the float c Miller M.H. and Orr D
iv.  Optimum cash balance under uncertainty  d Cash disbursement technique

Codes :

i i i v
Q) a c b d
2 b a d c
(3 c d a b

4 d b c a
Indicate the correct code for the liquidity ratios from the following :

a.  Current Ratio b.  Acid Test/Quick Ratio

c.  Total Assets Turnover Ratio d.  Defensive-Interval Ratio

Codes :

(1) a/bandc (2) b,candd

(3) abandd (4) a,candd

Non-payment by solvent debtor till due date involves which one type of cost from the following ?
(1) Default cost (2) Delinquency cost

(3) Capital cost (4) Extra collection cost

Banks normally provide working capital finance in forms of which combination of the
following ?

a.  Term loans b.  Discounting of bills
c.  Overdrafts d.  Cash credits

Codes :

(1) abandc (2) b,candd

(3) abandd (4) acandd

In case a product’s selling price (per unit) is ¥ 20, the variable cost (per unit) is ¥ 14, fixed
factory overheads, (per year) is ¥ 5,40,000 and fixed selling overheads is ¥ 2,52,000, the
break-even in terms of sales volume and the number of units to be sold to earn a profit of
¥ 60,000 will be which one of the following ?

Break-even VVolume of Sales and Units to be sold for the desired profits

(1) ¥ 24,60,000 and 1,36,000 units
(2) T 25,40,000 and 1,40,000 units
(3) ¥ 26,40,000 and 1,42,000 units
(4) T28,60,000 and 1,48,000 units
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59.

60.

61.

62.

63.

64.

fepalt wifcrear =t o1 it Frfetfiaa o @ e darm &g i =2 & 2
[CEREE Beasticaul

da.
b.  STIET HOT I FATHIHOT
C.
d.

YIYNhT hl HUT ol ATIeRTHISHI0T

farshar st T UR UfdeheT T BT ~FAHIhR0T
Fe
(1) a,baiRc (2) b,c3d
(3) a,cs3md (4) a, bs3iTd
T — | 60 HRT AT T g — || 781 | Y 31 fefetad o 9 9t % 1 99T
= - | = -
i HohT SR faferay &1, sAer

a.
ii.  TAfveaa o feafd 9 egeras T o9 b. % TRl dFAH
iii. e (Fe) ¥ Tor c. THoR uqTw. dor R 5.
d

iv. AT i feafd § srwoeian Ts v T HITOT THATH
i i v

§1§ a C b d

2) b a d C

3) ¢ d a b

4) d b C a

freferiad o & aRetdn ST &0 el $ FHl Sooid H

a. =] I b. @t wdiero/cRa I

C. T GU 3MEd U d. TIETH Saary A

HT

(1) a bs3iRc (2) b, c3d

(3) a bs3id (4) a,c3iXd

T IR FOM R i a9 e T H § FEfeiad § § i d TR AT
It Bt & 2
(1) SrweE (Y = HE) A (2) wOEFM A

(3) Ui e (4) AR ToeoT T

Joh AT At | 9 69 99 & T § SR gsit fo qear wd § ?
a. g o b. fafwa foax = &gt

c. ffufaed d. 7% 3UR

T

(1) a, baRc (2) b,c3d

(3) a ba3iXd (4) a,c3Rd

I fopdl Seag T fosha g (Wi Sehre) 3 20 &, Ul ot (Ui 3h1e) 3 14 &, FeR SraE

SuRega (vfd &) ¥ 5,40,000 7o fer faska 3uiemd € 2,52,000 & | 60,000 ol o A & feg

TeIsha | T Sl ST oAl SehEal bl Gl ol SH-faese Reia Fefefad o 9 s 9 el 2
foera =) ww-fa=g W L qifea ey & forw S = arelt gegar

(1) % 24,60,000 g 1,36,000 geHrEEl
(2) % 25,40,000 T 1,40,000 3eHTEEl
(3) % 26,40,000 e 1,42,000 3eHTEET
(4) ¥ 28,60,000 o 1,48,000 THTEET
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65.

66.

67.

68.

69.

70.

Anti dumping duty is levied on which one of the following :

(1) The goods exported from home country to encourage more export to a sovereign.

(2) The goods imported into the home country for the purpose of re-export to another
sovereign.

(3) The dumped imports which is causing damage to the domestic industry in the
importing country.

(4) The dumped imports which are meant for re-entry into a sovereign for further trade.

Assertion (A) : Export Processing Zones (EPZs) were set up as an enclave separated
from the Domestic Tariff Area (DTA) and converted into SEZs.

Reason (R) : The Export Oriented Units (EOUs) scheme is complimentary to the
EPZ and is introduced to enable exporters enjoy liberal package of
incentives.

Codes :

(1) (A)is correct but (R) is incorrect.

(2) (A)isincorrect but (R) is correct.

(3) Both (A) and (R) are correct but (R) is not the right explanation of (A).
(4) Both (A) and (R) are correct and (R) is the right explanation of (A).

Challenges before international business such as base erosion and profit shifting (BEPS),
tax avoidance and shifting between a holding company and a subsidiary located in two
different tax sovereigns may be resolved by which one of the following ?

(1) Mandate of Viena convention

(2) Montreal protocol

(3) Technology transfer transactions, cyber space

(4) Kyoto protocol

An efficient dispute settlement mechanism under WTO was brought in by which one of
the following :

(1) The Uruguay Round Agreement

(2) Doha Round

(3) UNDP Human Development Report 2000

(4) The Uruguay and Geneva Round of Negotiation

The undernoted items may be categorized into which one of the following ?
Export quota, exchange control, profit remittance restrictions, subsidies, government

procurement
(1) Tariffs (2) Unrestricted tariffs
(3) Non-tariff barriers (4) Hybrid of tariff and no-tariff barriers

The undernoted items are categorized into which one of the following international
product decisions for global business ?

Straight extension, product adaptation, communication extension, communication
adaptation, product extension, dual adaptation and innovation

(1) Product diversification

(2) Product market segmentation

(3) Product communication strategies

(4) Market segmentation and product promotion
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65.

66.

67.

68.

69.

70.

feiferd & @ fohg WX TR TAelt S[oek @I ST § 2

(1) T =t Wi 39 & ford ST <97 § 37 397 i Sl T Hard

(2) Tt o= 391 4= AT fhT ST 3 TRISTTe 310 <91 | a3t ol ST |

(3) T TehaT TTAT ST ST ST 97 % Te] SENT i Johd UgdT W |

(4) eI foRaT T ST STHeRT 3R T TR % T ot 38R 39 H U: 99 1 & |

Afiper (A)  © T TEEERT S (LSS IO BRe] Wele & (ST W YU U
381 % T H &l TE off T T ORI SMH 8 (THIIE) H TR B
feam |

HrT (R) ;. faidRE T (€.81) ASHT SHSE F SIE § adl ThH IBId
el 1 3TN AT Ueohst o o foTT =l 7% off |

T

(1) (A) T g, g (R)Tod & |

(2) (A) T &, g (R) W&l & |

(3) (A) 3 (R) I W& €, TR (R), (A) & Tel = T8 € |
(4) (A) 3R (R) T4 &l € wd (R), (A) i Tl e € |

ST SHIT™ & GHET FANTAT TAT I STNT-3TeTT HY W 90 H Taferd € o=t qer
ST AT o S STMHR-8RUT Tel HATH SEAaR0T, Y UNER e gXiaRoT bl GHTEM Heifhd |
 forges gRT TR T Gehdt € 2

(1) oo shraae & sifuser

(2) HifgaeT Hirhier

(3) IR BEATcRUT YeaRR, AZaR &

(4) b WABA

fe=ifeRd o & Tohaeh 5T fova SR WeA o 3idvid Ueh 1ol foaTg Fuer o o T 2
(1) o9 IR & GHT

(2) =@IIR

(3) FuAZLUL AHT FrEe fawrd Rae 2000

(4) SIS T IHTE qAT ST IR

sTifetfiad et st F=Aifeha | & s it foham ST Tehert & 2
frate Frarer, fafroe fe=or, gamer duor feee, afsaet, Tt B1ig

(1) W (2) efetaa s

(3) TR-IRIeH 3Ty (4) TR T T-TRTeh STaRIE T Qs
ST T8I i df¥a® =FedE & fou =ithd § § fha i Saus o & Siaa
Sofieher fopam ST & 2

e fodR, SeIs 3o, TaR-foaR, T9R 3FHe, 3 fowaR, el et a9 FaraR
(1) 3R faferetemror

(2) 3R IR forvferTaRToT

(3) 3R FAR IO

(4) ISR foferteRor o SeaTg Had=
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71.

72.

73.

74.

75.

Match the items given in List — | with the items of List — Il and indicate the code of
correct matching :

List—1 List— 11

a. CIP I. Carriage
b. CPT ii.  Insurance and carriage
c. DAF iii.  Freight, cost, insurance
d CIF iv.  Frontier
Codes :

a b c d
@ i i iv il
2 i i i v
3 i i v i
4) iv dii i [

To comply with the requirement of TRIPS agreement and to protect products of Indian
origin, which one of the following was enacted ?

(1) WTO Compliance Act 1999

(2) Geographical Indication of Goods (Registration and Protection) Act 1999

(3) The Patents Act

(4) The Copyright Act

Which one of the following transactions can be carried on without any restriction or
regulation of the RBI under the FEMA ?

(1) Transfer or issue of any foreign security by a person resident in India.
(2) Transfer or issue of any security by a person resident outside India.

(3) Drawal of foreign exchange for payments due on account of amortization of loans or
for depreciation of direct investment.

(4) Export, import or holding of currency notes.

In international marketing, market selection process is generally done by considering
which one of the following ?

(1) Farm related factors, market related factors, central banking measures related factors
(2) Farm related factors, market related factors.

(3) Market related factors, non-farm related factors, government related factors.

(4) Farm related factors, capital market related factors, and central banking measures
related factors.

The exit of Great Britain from the European Union (EU) in June 2016 by a referendum has
been announced as invalid by the London High Court on which one of the following reasons ?
(1) Referendum has got no legal sanction

(2) Exit was not as per the British law.

(3) Exitwas not as per the EU law.

(4) The Brexit cannot be legal under Article 50 without approval of the British Parliament.
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71.

72.

73.

74.

75.

At — | q=n g — || 0 H&T ol GRS HE TG Fel TeT aret e =I5 A

= - | = - 1
a. demedr. i, gome
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@ i i v i
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@) i di v
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PAPER -1
Note : This paper consists of Fifty (50) objective type questions of Two (2) marks each. All
questions are compulsory. 50 Q x 2 M = 100 Marks
1.  Which of the following set of statements best represents the nature and objective of teaching

and learning ?
a) Teaching is like selling and learning is like buying.
b) Teaching is a social act while learning is a personal act.

(

(

(c) Teaching implies learning whereas learning does not imply teaching.

(d) Teaching is a kind of delivery of knowledge while learning is like receiving it.
(

e) Teaching is an interaction and is triadic in nature whereas learning is an active
engagement in a subject domain.

Code :
(1) (@) (d) and (e) (2)  (b), () and (e)
(3) (a) (b) and () 4)  (a) (b)and (d)

2. From the list given below identify the learner characteristics which would facilitate teaching-
learning system to become effective. Choose the correct code to indicate your answer.
(a) Prior experience of learner (b) Learner’s family lineage
(c) Aptitude of the learner (d) Learner’s stage of development
(e) Learner’s food habits and hobbies (f)  Learner’s religious affiliation
Code :

(1) (@), (c) and (d) (2)  (d), (e) and ()
(3)  (a) (d) and (e) 4)  (b), () and (f)

3.  Assertion (A) : All teaching implies learning.
Reason (R) : Learning to be useful must be derived from teaching.
Choose the correct answer from the following :
(1) Both (A) and (R) are true and (R) is the correct explanation of (A).
(2) Both (A) and (R) are true but (R) is not the correct explanation of (A).
(3)  (A) is true, but (R) is false.
(4) (A) is false, but (R) is true.
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e U U H Ue (50) - fashedid U9 €1 U U % S (2) 3 €1 |l we e €
50 U9 x 2 3k = 100 Ak

1. frafafed woel & ag=a § @ FE-T1 freor &R s & yahfa 1@ 3299 o1 gaias ®9 5 9&qh
AT T ?

(a) Toreqor fosra & TAM § SR ST TURRT & ST § |

b) e wmfse Fe € Sefew sifumg sfama Fa T

) Toeo # siferm fafea © srafer siferm fveror =1 wefea =1 s |

d) eI Tk YRR I I I SR B Sk SR 36 9T i SiE g |

e) Torero sk sr:fohen ¥ oI yopfa § fFush € Safe eiferm wek fawar & et=fa wfha e 71

(
(
(
(

1) (@) (@) R () () (b) () ¥R (¢)
©

2. =@ E g H G famned & 7 sfvaeon @i fafed w S Reor-stfurd gonedt @ gl e |
e T 379 I I AT T o fIw T e o1 =37 &l |

(a) Toremeft =1 g6 sTgvE (b) faenefl =t wiETie a9 "o
(c) Tommeff =81 stfyrerman (d) forneff = forehrd 1 erereen
(e) foeneff & @M =t oTed SR wiee () foeneff =t enfifer wwargan
e

(1) (@), () ¥ (d) 2 (@), (e) 3R ()

(3) (a) (d) 3 (e) @) (b), (0 3R ()

3. tfueRed (A): |t foreror 7 eiferm fafea € 7
& (R) : Iy 1 TN B o T 3/ eTavaes €9 | freror § =gegt 21 =nfeu |
Frfafad o o Wt S 61 997 HY
1) (A) 3R (R) I T&I € 3R (R), (A) 1 HE TR T |
2) (A) 3R (R) TH T §, AfRA (R), (A) 1 TEl TR0 &l € |
3) (A) 5 &, AfFA (R) T 2|
(4) (A) @ T, AR (R) FE B
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10.
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On the basis of summative tests, a teacher is interpreting his/her students, performance in
terms of their wellness life style evident in behaviour. This will be called :

(1) Formative testing (2) Continuous and comprehensive evaluation

(3) Norm - referenced testing (4)  Criterion - referenced testing

Which one of the following is a key behaviour in effective teaching ?

(1) Using student ideas and contribution

(2) Structuring
(38) Instructional variety
(4) Questioning

Which of the following research types focuses on ameliorating the prevailing situations ?
(1) Fundamental Research (2) Applied Research
(3) Action Research (4) Experimental Research

A researcher attempts to evaluate the effect of method of feeding on anxiety - proneness of
children. Which method of research would be appropriate for this ?

(1) Case study method (2) Experimental method
(3) Ex-post-facto method (4) Survey method

In which of the following arrangements a wider spectrum of ideas and issues may be made
possible ?

(1) Research Article (2) Workshop mode
(3) Conference (4) Symposium

In finalizing a thesis writing format which of the following would form part of supplementary
pages ?

(1) List of tables and figures (2) Table of contents

(8) Conclusions of the study (4) Bibliography and Appendices

Which of the following is susceptible to the issue of research ethics ?
(1) Inaccurate application of statistical techniques

(2) Faulty research design

(8) Choice of sampling techniques

(4)

Reporting of research findings
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(1) fornefl & fo=mi wa stecM 1 S

(2) HEA

(3) TICRMHe fafaer
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(1) wifess oy (2) HERd WY
(3) Torarm® Wy (4) YT WY

Teh SNehdl o=l bt To=aT - gt W 9o fafe & Jure o1 3tiehe < 1 JaE T § 1
ot wiry-fafy sa% fag sugaa gt ?

(1) =afte s ggfa (2) uEIfTER Tgfa
(3) TR A @) T Tgh
8. frfafad o & ford ooomen ® fommi iR e 1 =amaeh &1 (TaH) i G SHMET ST Hehell © 2
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(1) R iR kel & gt ) fasa-gmroh
(3) 31 & frshd (4) vg-gE iR gRfire
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(3) Tresi el 1 foshey
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Read the passage carefully and answer question numbers from 11 to 15.

Climate change is considered to be one of the most serious threats to sustainable development,
with adverse impacts on the environment, human health, food security, economic activity, natural
resources and physical infrastructure. Global climate varies naturally. According to the Inter-
governmental Panel on Climate Change (IPCC), the effects of climate change have already been
observed, and scientific findings indicate that precautionary and prompt action is necessary.
Vulnerability to climate change is not just a function of geography or dependence on natural
resources; it also has social, economic and political dimensions which influence how climate change
affects different groups. Poor people rarely have insurance to cover loss of property due to natural
calamities i.e. drought, floods, super cyclones etc. The poor communities are already struggling to
cope with the existing challenges of poverty and climate variability and climate change could push
many beyond their ability to cope or even survive. It is vital that these communities are helped to
adapt to the changing dynamics of nature. Adaptation is a process through which societies make
themselves better able to cope with an uncertain future. Adapting to climate change entails taking
the right measures to reduce the negative effects of climate change (or exploit the positive ones) by
making the appropriate adjustments and changes. These range from technological options such
as increased sea defences or flood - proof houses on stilts to behavioural change at the individual
level, such as reducing water use in times of drought. Other strategies include early warning
systems for extreme events, better water management, improved risk management, various
insurance options and biodiversity conservation. Because of the speed at which climate change is
happening due to global temperature rise, it is urgent that the vulnerability of developing countries
to climate change is reduced and their capacity to adapt is increased and national adaptation
plans are implemented. Adapting to climate change will entail adjustments and changes at every
level from community to national and international. Communities must build their resilience,
including adopting appropriate technologies while making the most of traditional knowledge,
and diversifying their livelihoods to cope with current and future climate stress. Local coping
strategies and knowledge need to be used in synergy with government and local interventions.
The need of adaptation interventions depends on national circumstances. There is a large body of
knowledge and experience within local communities on coping with climatic variability and extreme
weather events. Local communities have always aimed to adapt to variations in their climate. To
do so, they have made preparations based on their resources and their knowledge accumulated
through experience of past weather patterns. This includes times when they have also been forced
to react to and recover from extreme events, such as floods, drought and hurricanes. Local coping
strategies are an important element of planning for adaptation. Climate change is leading
communities to experience climatic extremes more frequently, as well as new climate conditions
and extremes. Traditional knowledge can help to provide efficient, appropriate and time - tested
ways of advising and enabling adaptation to climate change in communities who are feeling the

effects of climate changes due to global warming.
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11. Given below are the factors of vulnerability of poor people to climate change. Select the code
that contains the correct answer.

(a

)  Their dependence on natural resources
(b) Geographical attributes

(c) Lack of financial resources

(d) Lack of traditional knowledge

Code :
(1) (a), (b) and (c) (2)  (b), () and (d)
(3) (a), (b), (c) and (d) (4)  (c) only

12. Adaptation as a process enables societies to cope with :

(a
(b

)  An uncertain future

) Adjustments and changes

(c) Negative impact of climate change

(d) Positive impact of climate change

Select the most appropriate answer from the following code :
1) (@), O), (© and (d) (2) () and ()

(3) () (0 and (d) (4) (0 only

13. To address the challenge of climate change, developing countries urgently require :
(1) Imposition of climate change tax
(2) Implementation of national adaptation policy at their level
(3) Adoption of short-term plans
(4) Adoption of technological solutions
14. The traditional knowledge should be used through :
(1) Its dissemination
(2) Improvement in national circumstances
(3) Synergy between government and local interventions
(4)

Modern technology
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12.

13.

14.
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15. The main focus of the passage is on :
(1) Combining traditional knowledge with appropriate technology
(2) Co-ordination between regional and national efforts
(3) Adaptation to climate change
(4) Social dimensions of climate change
16. The interaction between a teacher and students creates a zone of proximal :
(1) Difference (2) Confusion
(3) Development (4) Distortion
17. The spatial audio reproduction in a classroom can reduce the students’ :
(1) Cognitive load in understanding
(2) Respect for the teacher
(3) Motivation for excellence
(4) Interest in technology - orientation
18. The classroom communication should essentially be :
(1) Contrived (2) Empathetic (3) Abstract (4) Non-descriptive
19. A good communicator begins his/her presentation with a :
(1) Complex question (2) Non-sequitur
(3) Repetitive phrase (4) Ice-breaker
20. In a classroom, the probability of message reception can be enhanced by :
(1) Establishing a viewpoint
(2) Exposing the ignorance of students
(3) Increasing the information load
(4) Using high decibel audio tools
21. In the series 1, 6, 15, 28, 45, ............ the next term will be :
(1) o6 (2) 76 (3) 56 (4) 84
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15. 39 TS 1 Hehfeh fag ® -
(1) URURE I 1 T SRt & e S

(2) & SR U T & Se 9

(3) Soreng ufterdd % gfd STk

(4) SraTg 9RE o AT ST

16. fonerw iR faenfofai o sfie ER Garg ey S 1 Fefor e B
1) &H®X (2) vH
(3) forprw 4) fopfa

17. st e & Tenfeh g T30 &1 owig 9 famnfei o1 frefafead 8 & 9o w2 e &/ 9 ¢ 2
(1) <" H AR 9
(2) Taeeni o fa e

(3) Ikl < fd GO

(4) iRt - stfufeama § &

18. el § Harg e ®9 ¥ B =IfeT
(1) redrh (2) g (3) e (4) R-foerRomesh

19. U A9 FHYSH T Fecienol frfefad § 9 fhad ¥& wa €2
(1) Sifead g (2) Al
(3) Y TeE (4) g

20. TRd Fen § Hag TR0 &t GHEd &1 FAfafad § 9 fha sgr S dehdr § 2
(1) it Tefid ik

(2) fomnfa=i st ARl IR e

3) =M 9N H gfg ek

(4) I SfTdA h g TR T YA Lk

21. S@a 1, 6,15, 28, 45, .......... B STl & Bl ¢
66 2) 76 3) 56 (4) 84

1) 2)
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22. The next term in the series ABD, DGK, HMS, MTSB, .......... is :
(1) NSA (2) SBL (3) PSK (4) RUH

23. In certain code, “COVALENT” is coded as BWPDUOFM. The code of “ELEPHANT” will
be :
(1) MFUIQRTW (20 QMUBIADH
(3) QFMFUOBI (4) EPHNTEAS

24. Ajay is a friend of Rakesh. Pointing to an old man Ajay asked Rakesh who is he ? Rakesh
said “His son is my son’s uncle”. The old man is related to Rakesh as :
(1) Grandfather (2) Father-in-law
(3) Father (4) Uncle

25. A postman walked 20 m straight from his office, turned right and walked 10 m. After
turning left he walked 10 m and after turning right walked 20 m. He again turned right and
walked 70 m. How far he is from his office ?
(1) 50 m. (2) 40 m. (3) 60 m. 4) 20 m.

26. It is Truism to say that no one was there when life first appeared on earth. Any assertion
about life’s origin, thus, should be treated as a theory.
The above two statements constitute :
(1) A historical explanation (2) A narrative
(3) An argument (4) A conjecture

27. Given below are four statements. Among them two are related in such a way that they can both
be true but they cannot both be false. Select the code that indicates those two statements :
Statements :
(a) Honest people never suffer.
(b) Almost all honest people do suffer.
(c) Honest people hardly suffer.
(d) Each and every honest person suffers.
Code :
1) @and() (2 @and( (3 @and(d) (@) (5 and ()
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23.

24.

25.

26.

27.

1)
oo [

sfgell ABD, DGK, HMS, MTSB, ......... T SFTeT UT ¥
(1) NSA (2) SBL (3) PSK (4) RUH

et e H “COVALENT” &l % BWPDUOFM T 1 “ELEPHANT” %1 %< &I :
(1) MFUIQRTW (2) QMUBIADH
(3) QFMFUOBI (4) EPHNTEAS
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ST SHT e faftda @ €
(1) T Ufeiiass =ame 2) TH A
(3) T Th (4) TH 3EHd

T9 9R weH feu e E ) S 9 S o0e | 39 e U Hefd € 6 3 S T € ek € Weg o S
3T 7S 81 Hehdl | 39 e 1 AT L Sl S QM1 R bl ST HIAT §

a) SAMGR =Afa weff Fee T Jew ¥ |

(
(b) TN Gt MR AT F FeAd ¢ |
(
(

c) THMGR AfH WHE & F e ¢ |

d) U THMCR SAfad e Serdl € |

(a) R (b) ) (a) 3 (o) (3) (a) ¥R (d) (4)  (b) 3R (o)
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28. A deductive argument is invalid if :
(1) Its premises and conclusion are all true.
(2) Its premises and conclusion are all false.
(3) Its premises are all false but its conclusion is true.

(4) Its premises are all true but its conclusion is false.

29. Given below are two premises (a and b). From those two premises four conclusions (i), (ii),
(iii) and (iv) are drawn. Select the code that states the conclusion/conclusions drawn validly
(taking the premises singularly or jointly).

Premises : (a) All bats are mammals.
(b) No birds are bats.
Conclusions : (i) No birds are mammals.
(i) Some birds are not mammals.
(i) No bats are birds.

(iv) All mammals are bats.

Code :
(1) (@) only (2) (@) and (ii) only
(3)  (iii) only (4) (iii) and (iv) only

30. Just as melting ice - cubes do not cause a glass of water to overflow, melting sea - ice does not
increase oceanic volume.

What type of argument is it ?

(1) Analogical (2) Hypothetical
(3)  Psychological (4) Statistical
woo [ {INTANNOO A+
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29.

30.

T AT aeh s § 9fe
(1) 39 SMER 1R 3R Frewed |eft ot 2 |
SHh YR I TR Ty gt et &

(2)
(3) TTHh Gt SMHR AT TTeTd B W] SHhT F5hY Tal 2 |
(4)

4) THE Wl YR a1 Wl B T 39eh! =Y TTerd B |

1 < SR 1R (a 3R b) AU TR | 37 1 e arerdi § 9w sk (i), (i), (iii) 3R (iv) e T
T 139 e 1 T L Sl YHIOIe T H fehTel T (STER AR 1 oTehel 19aT HYe €9 9 old gU)
et / et o1 goTtan § |

AMUR AR :  (a) Tt TATES TAIRR B4 )
(b) IE i geft =HeS e B ¢ |
() g Tl TRl e e B
(i) TS el TR T e €
(iii) IS TEMEE Ul T BT T
(iv) T TR SHES B ©
ETE

1 (i) (2) Fad (i) 3R (i)

(1) whaa
(3) HaA (iii) (4)  FaA (iii) 3R (iv)

S8 firema # 9tk & fueerd Wel 9 fema &1 S99 SR E Sl SH YR feed g wg
feqeie ¥ 9Yg 1 T T sedl 2

g fre=fafad § 9 79 9ohR &1 deh © ?
(1) HIGTIqTh (2) UNERTIATHSR
LEIEEIEED (4) wifersEa

(3)
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Answer the questions 31 to 35 based on the data given in the table below.

Table : Number of registered vehicles in India and India’s population.

Total Two Cars, Jeeps, Goods Population
. . Buses . Others )
Year | vehicles wheelers Taxis (Lakhs) vehicles (Lakhs) (India)
akhs akhs

(Lakhs) (Lakhs) (Lakhs) (Lakhs) (Millions)
1961 6.65 0.88 3.1 0.57 1.68 0.42 439.23
1971 18.65 5.76 6.82 0.94 3.43 1.70 548.15
1981 53.91 26.18 11.60 1.62 5.54 8.97 683.32
1991 213.74 142.00 29.54 3.31 13.56 25.33 846.42
2001 549.91 385.56 70.58 6.34 29.48 57.95 1028.73
2011 1417.58 1018.65 191.23 16.04 70.64 121.02 1210.19

31. The maximum decadal growth in population of India is registered in the period :

(1) 1961-1971  (2) 1991 -2001  (3) 2001 -2011  (4) 1981 - 1991

32. In which year the decadal growth (%) in number of cars surpassed that of the two
wheelers ?
(1) 1991 (2) 2001 (3) 1981 (4) 2011
33. What was the average decadal growth in the number of cars during 1961 - 2011 ?
(1) ~131% (2) ~68% B) ~217% 4) ~157%
34. Inthe year 2001, out of total number of vehicles, the number of passenger vehicles (4 wheelers)
accounted for :
(1) ~14% (2) ~24% 3) ~31% (4) ~43%
35. What was the per capita ownership of two wheelers in India in the year 2011 ?
(1) ~ 0.084% (2) ~ 0.0084% (3) ~ 0.84% 4) ~ 0.068%
36. What is the name for a webpage address ?
(1) Domain (2) Directory (3)  Protocol (4) URL
oo [{INTANNCO A+ =



Trfeafiaa arferent ¥ fou U etfemsl & MR W 9 31 § 35 _T ST S |

AT : WA  USHehd aTel sht WEAT 3 U it THET

- % 9| gURA AR | R, S, 6 | " ART | ST | YRA i SHEE
(@) () I (qm@) | (FmE) | (a) | (TRE) (Taferar)
1961 6.65 0.88 3.1 0.57 1.68 0.42 439.23
1971 18.65 5.76 6.82 0.94 3.43 1.70 548.15
1981 53.91 26.18 11.60 1.62 5.54 8.97 683.32
1991 | 213.74 142.00 29.54 3.31 13.56 25.33 846.42
2001 | 549.91 385.56 70.58 6.34 29.48 57.95 1028.73
2011 | 1417.58 1018.65 191.23 16.04 70.64 121.02 1210.19
31. fr=fafed ¥ 4 forg oo & A YR &t SHgEn § gaifus gfg oo & T 2
(1) 1961-1971  (2) 1991-2001  (3) 2001 -2011  (4) 1981 - 1991
32. Tord o H R sl HeA H g8 TR Ihg (%), JUMEY & i G H g3 SIh1A gfG (%) hl TR
TE?
(1) 1991 2) 2001 (3) 1981 4) 2011
33. o9 1961 - 2011 % SRH HRI FI F&N § ad wig gig fra @ 2
1) ~131% 2) ~ 68% 3) ~217% 4)  ~157%
34. ¥ 2001 H, IRl i ol G@A | G AN el (Frafed areAl) i HeA F giaw a9 o ?
1) ~ 14% Q) ~ 24% (3) ~31% 4) ~ 43%
35. @4 2011 § WRd § gufean areAi i ufd safert wanfied fohdan o ?
(1) ~ 0.084% (2) ~ 0.0084% 3) ~ 0.84% (4)  ~ 0.068%
36. A9-Y3 Ud (TSH) & ford s g 2
1) <SrA (2) eEREd (3) Ui (4) I AXTQ.
oo [ EEFRILAAEA A v P10



37. The data storage hierarchy consists of :
(1) Bytes, bits, fields, records, files and databases
(2) Bits, bytes, fields, records, files and databases
(38)  Bits, bytes, records, fields, files and databases
(4) Bits, bytes, fields, files, records and databases
38. Which of the following domains is used for - profit businesses ?
(1) .org (2) .net (3) .edu (4) .com
39. What is the full form of USB as used in computer related activities ?
(1)  Ultra Security Block (2)  Universal Security Block
(3)  Universal Serial Bus (4)  United Serial Bus
40. Which of the following represents billion characters ?
(1) Terabytes (2) Megabytes
(38) Kilobytes (4) Gigabytes
41. Which of the following pollutants is the major cause of respiratory diseases ?
(1) Suspended fine particles (2) Nitrogen oxides
(3) Carbon monoxide (4) Volatile organic compounds
42. Assertion (A) : In urban areas, smog episodes occur frequently in winters.
Reason (R) : In winters, a lot of biomass is burnt by people for heating purposes or to
keep themselves warm.
Choose the correct answer from the code given below :
(1) Both (A) and (R) are true and (R) is the correct explanation of (A)
(2) Both (A) and (R) are true but (R) is not the correct explanation of (A)
(3) (A) is true and (R) is false
(4) Both (A) and (R) are false
oo [[{INTANNCO A+ =



37.

38.

39.

40.

41.

42.

oo [ IREFHMAIRRIACARI

Tl HerU & A § i ©
(1) ey, faeh, wieew, ey, wEd a1 SREyS

2) foew, sy, wieey, Rerey, wEd o1 SREES
3) fozH, wr3ew, Ry, wiegd, wiEd 791 SEEEs
(4)

foreq, d1Eed, HiceH, HEd, RHEH qo1 SReyS

frrefefad Sl | fRd STyt SATIR &g w4 fohan Siran § 2

(1) .30 em st 2 TWIAF) (B) FTAI(EL) (@) HNTwE(FM)

FIR Y Frefod S § FAN g 9, TH S, 1 G0 9 S ?
(1) st fafEr s (2) Fieda feEr s
(3) Fiadd HifTa a9 4) TS Hifwd |

Frafafad § 9 F-91 T o1 (fafeam) e yefiid a8 2
(1) e (2) e
3) fwcirarged (4) hTeTEeH

frefafead § ¥ SHH-91 Ygush Ya8=-a9 9 eI i@l 1 T5E FR § ?
(1) focifaa gaa wa (2) TEINH RS
(3) e HHISATFES (4) STmRAA FHEfH AR

afireRer (A) :  IRA & B, SIS & ol § SToRR Uil ot FeAd "fed 2l € |

e (R) S o Hreq B o T A & g W A = T e & fan o2 men i
S-Gafd (STEHE) i ST © |

= QU 7T Fe # ¥ T IW 1 =TT DI

(1) (A) 3 (R) < &l € &R (R), (A) T T <A T
2) (A) 3R (R) S W& § WA (R), (A) T T A0 7L T
(3) (A) W& 3R (R) T B

4) (A) 3R (R) S TTerd €1

[y
O
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43. Occurrence of natural hazards is affected by :
(a) Land use changes (b) Drainage and construction
() Ozone depletion (d) Climate change
Choose the correct answer from the code given below :
(1) (@), (© and (d) 2) (@), (b)and (©)
(3) (@), (b)and () (4) (), () and (d)
44. Which of the following pollutant gases is not produced both naturally and as a result of
industrial activity ?
(1)  Chlorofluoro carbons (2) Nitrous oxide
(3) Methane (4) Carbon dioxide
45. Among the following fuels of energy, which is the most environment friendly ?
(1) Ethanol (2) Biogas (3) CNG (4) Hydrogen
46. Which of the following are the goals of higher education in India ?
(a) Access
(b) Equity
(¢) Quality and Excellence
(d) Relevance
(e) Value based education
(f) Compulsory and free education
Select the correct answer from the code given below :
(1) (@), (b) and (¢) only (2) (@), (), (@) and (9
() @), 0), ©) (d and (¢) @ @), 0), © () (@ and (©
47. Which of the following has been ranked the best college in the country (2017) as per the
National Institutional Ranking Framework (NIRF) ?
(1) Miranda House, Delhi (2) St. Stephen’s College, Delhi
(3) Fergusson College, Pune (4) Maharaja’s College, Mysore
oo [NNTMNAATINRRRY =



43.

44.

45.

46.

47.

Yrehfder amaerstl & sfed B o frefafad o g gear @ ¢

(a) ofF - 3ITEM ¥ 9REdq (b) < e AR fafo
(c) TSI | VS NEIRIECTE

= ST T e & 9 &I IW A1 =TT FHINT

D) (@ (© R @ @ (@) (b) ¥R ()
(3) (a), (b) ¥ (d) 4)  (b), (0) 3 (q)

frefafed § § - ygws 19 Uik €9 9 iR sTEifier fafafy & aRomess 1 9 3a=
& Bl 7 2

(1)  FAUFL HTei (2) TTELH sHfEE

(3) Hem (4) e SESTHRES

frefafed e Somi § HiFA-91 S TR & foe ged o € 2
1) T (2) wEH 3) wEAS (4) TESSH

IRA H 3= fren & oieg frefafea A 9 A 4 €2
(a) AT

(b) E=

(c) o1 T TR

(d) IrEfTeRdr

(e) WA A e

(f) e @ gu fen

1 fu 7T e § § wE W T ¢

(1) 9 (a), (b) 3R () 2 (), (), (o) 3R ()

(3) (@), (b), (0), (d) ¥R (e) @) @), ®), (@), () () &R (f)

TS Tieeieh Joertor e (TH.31E. IR UE. ) & 3R frfefad o § ford 2w o, Te9s wics
(2017) =T T HTw G311 2

(1) Toier gRy, food (2) U EEH Hiad, food

(3) HIEA shiets, IO (4) TRRIST FR, T

wooo [[INNNMNNARIAN. =



48. Which of the following universities has received the Visitor's Award for the best Central
University in India in Feb. 2017 ?

(1) Jawaharlal Nehru University (2) Banaras Hindu University
(3) Tezpur University (4)  University of Hyderabad

49. Who among the following can be removed by the President without Parliament’s
resolution ?

(1) Judge of a High Court (2) Governor of a State

(3) Chief Election Commissioner (4) Comptroller and Auditor - General

50. Which of the following come(s) within the ambit of the term ‘corruption’ ?
(a) Misuse of official position

(b) Deviation from rules, laws and norms

(c) Non-action when action is required

(

d) Harm to public good

Select the correct answer from the code given below :

(1) (a) only (2) (a) and (b) only
(3) (@), (b) and (d) 4) (@), (b), (c) and (d)
-o00o0-
S T T



48. fr=fafaa favafaememl & 9 fF9 ®E’t 2017 # w69< d=a favafaeme™ & fau s
(fafseX) =1 qTEhr 9w gafl ?
(1) SfeTetere &% oo™ 2) R fexg fovafemmem
() auqY fovefarmem 4) TER fovafamme
49. Trfafed § 9 fFfd Hug & Wiehd Y& o o1 Tgufd gR1 g S 9ehdl § 2
(1) T AT h1 =T (2) TSF w1 T
(3) H=A g9 (4) fraw IR HecEn Thes
50. frefafed § & sH-91‘ R’ ves #t aRkfy § o § 2
(a) TR IS I GEIAN
(b) 7o, A IR Al § fome
() T AT SATIH B A HRATS 7 HE
(d) e Hufd &l A
= foU T e § | WE W A -
(1) F (a) (2) A (a) A (b)
() (@), (b) ¥ (d) (4) (@), (), () ¥R (d)
o0o
~ooo [[IIHIMINNONANIE = Piro
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Instructions for the Candidates
Write your roll number in the space provided on the top of
this page.
This paper consists of fifty multiple-choice type of questions.
At the commencement of examination, the question booklet
will be given to you. In the first 5 minutes, you are requested
to open the booklet and compulsorily examine it as below :
(i) To have access to the Question Booklet, tear off the
paper seal on the edge of this cover page. Do notaccept
a booklet without sticker-seal and do not acceptan open
booklet.
Tally the number of pages and number of questions in
the booklet with the information printed on the cover
page. Faulty booklets due to pages/questions missing
or duplicate or not in serial order or any other
discrepancy should be got replaced immediately by a
correct booklet from the invigilator within the period
of 5 minutes. Afterwards, neither the Question Booklet
will be replaced nor any extra time will be given.
After this verification is over, the Test Booklet Number
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Number should be entered on this Test Booklet.
Each item has four alternative responses marked (1), (2), (3)
and (4). You have to darken the circle as indicated below on
the correct response against each item.
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space allotted for the relevant entries, which may disclose
your identity, or use abusive language or employ any other
unfair means, such as change of response by scratching or
using white fluid, you will render yourself liable to
disqualification.

You have to return the original OMR Sheet to the invigilators
at the end of the examination compulsorily and must not
carry it with you outside the Examination Hall. You are
however, allowed to carry original question booklet and
duplicate copy of OMR Sheet on conclusion of examination.
Use only Blue/Black Ball point pen.

Use of any calculator or log table etc., is prohibited.

There are no negative marks for incorrect answers.

In case of any discrepancy in the English and Hindi versions,
English version will be taken as final.
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MANAGEMENT
PAPER-1II

Note : This paper contains fifty (50) objective type questions of two (2) marks each. All questions

are compulsory.

1.  Managerial economics is concerned with which combination of the following ?
(a) Investment Analysis and Decisions
(b)  Production Behaviour and Cost Analysis
(c) Input Reward Analysis and Decisions
(d) Economic Environment Analysis
Code :

(1) (@), (b) and (c) (2)  (b), (¢) and (d)
(3) (), (b) and (d) 4) (@), (c) and (d)

2. When P, and P; and Q, and Q; denote before and after change in the price and quantity
respectively and in both the situations, total outlay remains the same, which of the following
formulae give the similar value of the arc price - elasticity of demand ?

Qo—Q;, Fo+P Qo—Q;, Do
@ "Ry ><Qo +Qq (b) WXE
Q-Qi, Ry Q-Qi, P Q-Q1, Pt
© P Q @ m-r © PP Q
Code
(1) (b) (c) and (e)
(2)  (a), (b) and (e)
(3) (@) (c) and (e)
4)  (b), (c) and (d)
3.  In case the producer’s equilibrium shifts to a higher isoquant due to decrease in price of an
input, the curve combining the successive equilibrium positions is known as :
(1) Product Possibility Curve (2)  Price Factor Curve
(3) Expansion Path (4) Product Line
s [T : Faper




LEbE]
T9A-u - 11
fader: 39 T | uem (50) dg-fashed ™ U9 €1 U U & Y (2) 3k &1 |l e Sifremdd €1
1. ffafed § 9 forg Gaem &1 yeuee 129 9 TR § 2

(a) fTafrm fovewo wa o @

(b) UG FERR T ANTA fareetsor §

(c) HEA (TeT) IRalfyer foaveryor e fofi 9

(d) TR araeRY faveryo §

< :

1) (), (b) T (o) 2 (b), (0 T (d)
3) (a), (b) T (d) 4) (@) (0T (d)

2. W@ P,Td P, 71 Q, T Q, FHH: HIAA Ta HIA % UNeRA § gt T o1 i Feerfeall gwifelt & qen
Sl < ARl o 5 @ ot Uit waE @d @ 9 Frefafea 9 9 foT I g1 = wimd e @

T TH I S © 2
Qo—Q1 Ry+Py Qo—Q1 Iy
@ Bp XQO"‘Ql ®) Ry-py XQ_l
Qo—Q1 o Qo—Q1 P Qo—Q1 Py
(©) Py—P;  Qp (d) Py—P, XQ1 ) Po—Py ><Qo
< :
(1) (b, (c) T (e)
2 (a), (b) T (e)
3) (@), (o) T (e)
4  (b), (c) T (d)

3. A IUIGH 1 A Tohelt I o WIEH o Hod | AT ok HRO FRE I THIAG 95k T S ©
1 ST\ et 1 e et o5k ST ST S ©

(1) 3cUIE G¥TeIdl osh & &9 H (2) HcH uH Ik ok €9 H
() fomRug®®IH (4) 3R Y@ H FIH

arr [ HINEAII ;



4.  Which one of the following statements is not correct ?
(1) Marginal cost declines at a faster rate as compared to the average cost.
(2) Marginal cost rises at a faster rate as compared to the average cost.
(3) Marginal cost equals average cost where average cost is minimum.
(4) Average cost equals marginal cost where marginal cost is minimum.
5.  Cost - Plus pricing is not suitable for :

(1) Product Tailoring (2) Profit Maximising
(3) Monopsony Pricing (4) Public Utility Pricing

6.  Match the following and select the correct code of matching :

List - I List - II
(a) F.W. Taylor (i)  Fair day’s pay for fair day’s work
(b) Henry L. Gantt (i) Motion study
(c) Frank and Lillian Gilbreth (iii) Graphic scheduling for planning and controlling of
work
(d) Max Weber (iv) Bureaucratic organisation
Code :
@ () (9 (d
O O @ @@ )
@ (O @) @ )
@) (v @) @ o
@) @) O @ @)

7.  The achievement of goals with the least amount of resources is :

(1) Effectiveness (2) Efficiency (38) Productivity (4) Both (1) and (2)

8.  Which one of the following is the fundamental rethinking and radical redesign of business
processes to achieve improvements in performance ?

(1) Reengineering (2) Reorganising
(3)  Revisiting (4) Rescheduling
s [T ‘ Fapec




4. Trefafed § & HH-91 FuF @@ @ T 2
(1) HH AFTa STEd AFTd st g | Ot T1fd | =edl 7
(2) HHRI ARG STHd ARG ot ger § oSt T 9 Sed §
(3) EHIN AN STEd AN o SRTER Bl ¥ ST 3Hd AT <A g |
(4)

A ARG A ARTd o aRTeR BNt § STel Y= @nTd <A gt 7 |

5. TNIG-49 YoId SUYE Té el ¢
(1) 3O Hifoeed (Saf) & fawl (2) @Y sAfushaaea & fau
(3) HARMHHRT oI o for (4) HreSIR 9 goor & faw )

6. frAfafEd %1 gafad Hifeg 3R W& He 1 =97 FIT ¢

T - 1 T - 11
(a) THRTHY, IR () T R * 7=+ & fag, sm=s1 9=
(b) TR T e (i) T ereEA
() T IR fafeem ficad (iif) P AT AR FF=I0T 1 WfHh FTehL
(d) T IR (iv) TTeRmel dee
e
@ () (9 (d
®» ©O @ @ @)
@ @ @) @ (@)
3 (v) @) @) (@
4 (@) @) @) (i)

7. ¥ Y KA Idi oh 91 e I G ©
(1)  gTeremfer 2)  fagora (3) SEHA 4) (1) 3R ()

8. frAfafed & & foaeA # UR i Iqctfsy o AT SH-H HRIFRT Ffsham T Ja JAGER 3R shifdeh
A gfaey § 2

(1) grEfafer (2) T
3) AR (4) TTEES R

arr [ HINEAII ;




9.  Match the following and select the code of correct matching :
List - I List - II
(a) Motivating through rewards (i) Charismatic leadership
and penalties
(b) Changing organisation by creating (ii) Situational leadership
and communicating a vision
(c) Influencing by dint of personality (iii) Transactional leadership
and charm
(d) Modifying style with respect to (iv) Transformational leadership
readiness of followers
Code :
@ ®) © (@
O @ O 6@ W)
@ ) v 0 G
@) G @) @ o
@) v @ @ 0
10. Which one of the following is not a “hygiene factor’ of Herzberg’'s Two Factor theory ?
(1) Interpersonal relations (2) Working conditions
(3)  Responsibility (4) Job security
11. Assertion (A) : Promotion is a move within the organisation to a higher position that has
greater responsibilities and requires more advanced skills.
Reasoning (R) : Promotion may not involve a raise in status but a hike in salary is a must.
Code :
(1) (A) and (R) both are correct.
(2) (A) and (R) both are incorrect.
(3)  (A) is correct whereas (R) is incorrect.
4) ) is incorrect whereas (R) is correct.
a7 \IHII“II\HI\IHH\ QLT : Fapec




10.

11.

Frefafad o1 gafed it iR W& e T =97 T

T - 1 T - 11
(a) IRl 3R Ul gRT SAfgRom () AR g
(b) SR o FHo Td H9R g 9ied | (i) TRRefdE g
TREd A
(c) AfHKIE Ta ARYU G YIferd (iii) HrE-foum HaH Aqa
(d) ST I A hI 3@ gC et H Ukadd (iv)  TAWRY g
AT
Fe
@ () (9 (d
1 @) @ @@ (@)
) (@) @Gv) @) ()
®) (@) @) @ @
4) () @) @) ()

Frefafed o 9 SF-1 gier Hl S HReh THET 1 ' e Heeh ' Tal § 2
(1)  STafsi ey 2) e aRfefat
(3) IEIIE (4) SiTe gam

frgemm (A):  oSEIa U Hed | U S US Wi 3R SRR BT § s ferd st swafae

TS AT i STl B ¢ |
T (R) : TR H Tdel H Sl e A1 8, T o H gfs 37w Bt § |
ETE
(1) (A) W& (R) 3§l B
2) (A) W@ (R) S Terd € |
(3) (A) &I T, T (R) T & |
(4) (A) 7T T, T (R) T g

arr [ HINEAII 7
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12. Match the following and select the code of correct matching :

List - I List - II
(a) Identification of leadership potential (i)  Vocational Tests
(b) Finding most suitable area of working (i) Aptitude Tests
(c) Discovering interest and potential (iii) Intelligence Tests

for acquiring skills
(d) Measuring capacity to think, learn (iv) Personality Tests

and draw relationships

Code :

@@ (b) () (d)
1) Gv) (@) @
2 @ @ @) @)
G) @) @ @@ ()
@ @ @) @ @)

13.  Which one of the following is a facility to file anonymous complaints ?

(1)  Juke Box (2) Wide Box (3)  Gripe Box (4) Hard Box

14. Which of the following is/are not gainsharing plan(s) ?
Scanlon Plan

Rucker Plan

c¢) Employee Stock Option Plan

d) Improshare Plan

Code
(1) (c) only
(2) (d) only
(3)  (c) and (d) both
4) (b), () and (d)
S TR ;
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15. In which one of the following methods of performance appraisal, predetermined percentages
of rates are placed in various performance categories ?
(1) Alternation Ranking Method
(2) Forced Distribution Method
(3) Paired Comparison Method
(4) Check - list Method
16. Indicate the correct code for the combination from the following regarding the superiority of
the wealth maximisation over the profit maximisation objective of the financial management :
(a) It takes into account long term stability and survival of the firm.
(b) It takes care of all other objectives of the firm like exploring and expanding markets, etc.
(c) Itis based on the assumption of perfect competition in the market.
(d) It considers risk alongwith returns.
Code
(1) (@), (b), () and (d)
(2)  (b), () and (d)
(3) (a) (b)and (d)
4) (@), (c) and (d)
17. The controller function of the financial management concerns with :
(1) advertising the public issue of the firm
(2) negotiating with banks for loans
(3) analysing variance between standard costs and actual costs
(4) estimating the future cash flows from certain project
18. Capital Asset Pricing Model (CAPM) for risk measurement has been given by :
(1) Sharpe and Lintner
(2) Lintner and Treynor
(3) Sharpe, Lintner and Treynor
(4) Lintner, Modigliani and Miller
s [T 1 Fapec
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19.

20.

21.

22.

23.

Beta (B) is a measure of :
(1) Systematic Risk (2) Unsystematic Risk
(3) Total Risk (4) Business Risk

Capital budgeting is concerned with :

(1) Arranging cash resources for the project.
(2) Managing the working capital of the firm.

(3) Managing the fixed assets through repairs and renewals.
(4)

4) Evaluating the returns and investment in projects.

Which one of the following is the demand state where “Consumers dislike the product and
may even pay to avoid it” ?

(1) Unwholesome demand (2) Declining demand

(8) Negative demand (4) Latent demand

Evaluate the statements according to Brand Asset Valuator Model of Brand Equity :

Statement (I) : Knowledge measures the degree to which a brand is seen as different from
others as well as its pricing power.

Statement (II) : Esteem measures perceptions of quality and loyalty or how well the brand
is regarded and respected.

Code :

(1) Both the Statements are correct.
(2) Both the Statements are incorrect.

(3) Statement (I) is correct while Statement (II) is incorrect.
(4)

4)  Statement (I) is incorrect while Statement (II) is correct.

If a coaching institute provides some supporting study material along with teaching, then
which one of the following service mix category would it be ?

(1) Hybrid offering

(2) Major service with accompanying minor goods and services
(8) Tangible good with accompanying services

(4)

Pure service
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24.

25.

26.

v ||

Statement (I) : A low market - penetration index indicates substantial growth potential for

all the firms.

Statement (II) : Generally, price competition increases and margins fall when the market -

penetration index is already high.

Code :

Both the Statements are correct.
Both the Statements are incorrect.
Statement (I) is correct while Statement (II) is incorrect.

Statement (I) is incorrect while Statement (II) is correct.

Which one of the following is a system of partnerships and alliances that a firm creates to
source, augment, and deliver its offerings ?

Value network
Omnichannel marketing
Integrated marketing channel system

Direct marketing channel

Statement (I) : Time study is an area of study whose fundamental purpose is to set time

standards for work using different methods.

Statement (II) : Work measurement is a structured process of directly observing and

measuring (using a timing device) human work in order to establish the
time required for completion of the work by a qualified worker when
working at a defined level of performance.

Both the Statements are correct.
Both the Statements are incorrect.
Statement (I) is correct while Statement (II) is incorrect.

Statement (I) is incorrect while Statement (II) is correct.
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27.  Which one of the following combinations of the characteristics of the popular layouts is not

matching ?
Fixed Product Process Cellular
Factors
layout layout layout layout
Material Often high
(1) arend Fixed path [Variable path =n e Variable path
Travel path
Ship Continuous |Job or small |Small to
(2) Process o e :
building and repetitive |batch medium batch
Diversified
Made t duct
adeto Standardized pr.o et Diversified
3) Product order, low using
product products
volume common
operations
Utilization of G 1
4) ) _é M |Moderate Very high enera High
Facilities purpose

28. Inthe context of distinguishing between forecasting and prediction, which one of the following
statements is false ?

(1)
()

®)
4)

Forecasting is based on a theoretical model while prediction may be based on intuition.

Forecasting reflects management’s judgement after taking all available information into
account; while prediction involves the projection of the past into the future.

Error analysis is possible in the case of forecasting while no error analysis is done in the
case of prediction.

No objectivity is found in the case of prediction.

29. An activity that consumes no time but shows precedence among activities is known as :

(1)
()
®)
4)

Slack activity
Successor activity
Dummy activity
Critical activity

30. Which one of the following is not correct matching between level of facility planning and
type of activity ?

(1)
(2)
®)
4)

Global level and site location and selection

Macro layout level and Site planning

Micro layout level and Cell design

Sub - Micro layout level and work station and Cell design

arr [ HHIHIEAN 1



27. frAfafed o=@ ¥ § SE-91 gafed foamEl 9 7 78 @ ?

FHRH fryifia faom |3 faum  [ufshan fomma |[swie fo=ama
1) |[(TawigaR |FufRdue  |oREdioy [Sgmis= Oy [fed oy
R den [Siie STl oy
2 EIER Sttt fmio q 7Y
2) ; - N |
ITRI hi
C IR AT
fafvr, w &
3) I fafda, = |wifa S . fafis 3curg
- e g
ffida
(4) ot ey ] THH A< |3
ST T

28. fo=Famolt 3R qd UM % R % F9T H, Efated § 9 SH-9 ®UF Ted © 2
wfersramet Sgif<e Ffaed R efid ¥ Safh qd e &1 SUR 31w & Hehell ¥ |

29.

30.
1)
(2)
(3)

fersramoft Jare gRI 9HE YaAiei %l e § W fod o o6 aftafaa et § siafe 16

o B o7cfid <l o1 1 o § 3@ S 2 |

Ffe-faersu, wfosramt #, Hwa § sefe g6 weM & gt § e faverso T foman s |

e HF i G H %] Tkl & B |

Iaadt Tfafaf
T fafafy

wepayl Tt

frefafed § § SF-91 giaen A & ®R AR Tfafafy & YR 9 92 7 & @l § 2

e WR IR e fraRe-=ee
TETfoTE W SR TIe ArS
o fa=ma &R iR 9 fesmea
(4) 39 HRIfa=E ®R IR % A a1 9 fesed

arr [ HINEAII

17

T Tifafafy fsed fordt g9a =t wua 7=l 2t TR 59 fafafei § o1 o €, S9 #ed © ¢
sterequ Tfdfafy

Paper-II




31. Which one of the following statements is false ?

1) Sample space refers to the collection of all favourable outcomes of an experiment.

1)

(2) Collectively exhaustive events are those whose union is sample space.
(3)  All the outcomes of an experiment are known as sample space.

4)

Two events are said to be independent if the happening of one does not affect the
probability of happening of the other.

32.  Which one of the following is a false statement?

(1) A binomial distribution involves infinite number of trials

(2) The mean and the variance of a Poisson distribution are equal

(3) The standard normal distribution has =0 and =1

(4) The standard deviation of an exponential distribution is equal to its mean

33. In the context of coefficient of correlation (r), match the items of List - I with the items of
List - IT and select the code of correct matching :

List - I List - II

1_1,2
(a) N (i) Probable error of r

1-12

(b) (0.6745) ( N ] (i) Coefficient of determination
() 12 (i) Standard error of r
Code :

@ () (o
1 @ @ )
(2) @) @) @
(3 @ @) @
4 @ @) (i
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34. Which one of the following statements is true ?

(1) If one of the regression coefficients is greater than one, the other must also be greater
than one.

(2) The product of the two regression coefficients is always more than one.
(3)  Correlation coefficient is the arithmetic mean of the two regression coefficients.

(4) The signs of the two regression coefficients are always the same.

35. In the absence of which of the following, SPSS can be used as an alternate ?
(1) MS Word (2) MS Excel (3) MS Access (4) MS Datapro

36. Match the items of List - I with List - IT and select the code of correct matching :

List - I List - II

(a) Merger of Vodafone and Idea (i)  Business Strategy
(b) Launch of Apple iphone 7 plus (i) Operational Strategy
() Manufacturing Samsung mobile handsets in India (iii) Corporate Strategy
Code :

@@ (b) (9
1) @) @ @
(2) @) @@ @
(3 @ @) @
@ @) @@ i)

37. Which among the following are 5 Ps of strategy as identified by Mintzberg ?
(a) Plan
b) Problem
c) Pattern

(
(
(d) Position
(
(

e) Ploy
f)  Perspective
Code
1) (@), (b), () (d) and (e)
(2) (@) (b), (d), (e) and ()
3) (k) () (d)/ () and (f)
4 (@) (9) (d), (e) and (f)
iz | il 2
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38. Assertion (A) : A firm’s relative position within its industry determines whether the firm'’s
overall profitability is above or below the industry average.
Reasoning (R) : The fundamental basis of average profitability in the long run is sustainable
competitive advantage.
Code :
(1) (A) and (R) both are correct and (R) is the right explanation of (A).
(2) (A) and (R) both are correct but (R) is not the right explanation of (A).
(3)  (A) is correct but (R) is incorrect.
(4) (R) is correct but (A) is incorrect.
39. Statement (I) : A “Star” is the market leader in a high-growth market ; and it has sufficient
cash to support other businesses.
Statement (II) : “Dogs” have weak market share in high - growth market.
Code :
(1) Statement (I) is correct but (II) is incorrect.
(2) Statement (II) is correct but (I) is incorrect.
(3) Both the Statements (I) and (II) are correct.
(4) Both the Statements (I) and (II) are incorrect.
40. Which among the following is not a generic strategy ?
(1) Unity Strategy
(2) Cost Leadership Strategy
(3) Differentiation Strategy
Niche Strategy
o7 \||\||H|| IR 2 Faper!
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41.

42.

43.

Elements of entrepreneurial competencies, according to the theorist of the subject, pertain to
which one of the following ?

(1) Body of knowledge, set of skills, cluster of appropriate motives and traits
(2) Ability to prepare viable project, executional skills and materialisation of group goals
(3)  Ability to work in a group, enforce group dynamics and motivate employees

(4) Assigning priorities to hierarchy of Maslow’s monetary needs and non-monetary needs

Under the new norms of Micro, Small and Medium Enterprises Development (MSMED) Act
2006, the criteria of investment limit in plant and machinery for MSME falls under which
one of the following category ?

(1) Micro X 25 lakh, small ¥ 5 crore, Medium X 10 crore
(2) Micro X 20 lakh, small X 2.5 crore, Medium X 5 crore
(3)  Micro X 20 lakh, small X 6 crore, Medium X 8 crore

(4) Micro X 25 lakh, small X 10 crore, Medium < 15 crore

Entrepreneurial Judo strategy aims at which one of the following ?
(1) Filling holes left by others in the industry.

(2) Developing effectiveness in the industry.

(3) Mobilising finance and effective use to reduce NPAs.

(4) Creating competitive environment in the environment of SMMEs.
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44.

45.

46.

v ]

Preparation of a business plan as a pre-requisite to a promotion of a business enterprise,
relates to which one of the following ?

There is no flaws in the business idea, the fashion, conviction and tenacity of the
entrepreneur.

Make arrangement for finance and prevent occurrence of NPAs by business entity.
Ensure that business entity works at break even level.

Make plan to raise finance from market and alternative investment opportunities.

Federation of Associations of Small Industries of India (FASII) promoted in 1959 is which
one of the following type ?

Government organisation
Liaisoning organisation
Small Scale unit

SSI Board

Statement (I) : The science of ethics is a normative science.

Statement (II) : Normative sciences judge the value of the facts in terms of an idea ;

concerned with judgements of “what ought to be’” but not with factual
judgements.

Code :

Statement (I) is correct but Statement (II) is incorrect.
Statement (II) is correct but Statement (I) is incorrect.
Both the Statements (I) and (II) are incorrect.

Both the Statements (I) and (II) are correct.
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47. Match the items of List (I) with those of List (II)

List - I

(a) Ethics are the principles of conduct
governing an individual or profession.

(b)  Ethics is the discipline dealing with what
is good and bad, or right and wrong, or
with moral duty and obligation.

(c) Ethics are a set of rules that defines right
and wrong conduct.

(d) Business ethics, in short can be described
as the systematic study of moral (ethical)
matters pertaining to business, industry or

related activities, institutions, or practices

and beliefs.
Code :

@@ (b) (o) (d)
1) @) @) @O (@)
(2) @) @v) @ @
(®) @v) @) @ @
@ O @) @) (@)

(@)

(i)

; and choose the correct combination :

List - II

John Donaldson

Keith Davis

Shea

R. Wayne Mondy

48. Assertion (A) : Decisions in small matters largely tend to set a pattern for the more important

ones you may make as managers.

Reasoning (R) : A multi - industry survey conducted in the USA indicated that 40% of the
managers said that their superiors had at some time told them to do certain

things unethical.

Code :

(1) (A) and (R) both are correct and (R) is the right explanation of (A).

(2)  (A) is correct whereas (R) is incorrect.

(3) (A) is incorrect whereas (R) is correct.

(4) (A) and (R) both are correct but (R) is not the correct explanation of (A).
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47. G- 1 T3 I Gelt - 11 &l 76l § GAfAd i 3R Te&l S 1 =99 it

Tt - 1 et - 11
(a) +ffq % fagra a € it foredt safaq steran wRER (i) ST SHeeEd
% SAIER h! HaIferd hd & |
(b) T 97 TR T S 3T 31 &, U HAE, (i) oty Sfad
TEI 9 T, e 1A 7 Adan sk Fded T Qi
Y Trefed B
(c) feeme 37 Fadi &1 9g © Sl 921 3iR e SRR (iif) ¥
1 e e § 1

(d) HRE Ffaemes &1 G&aq H foerv 36 geR fean ST gehdl (iv) IR 9 Jiet
T for e forelt SRR, ST St 399 Hrag Tidfare,
Heqel 27UeT 9% Yoo TS (a9 i ggiaslg Afdeh
AT T |

48. IAMUHRT (A): TH Ya-¥eh & &9 H 39 g BI< Al § faq 7¢ i 23feeh Aewerqul Ama o
ol o9 =t de IR R €

e (R) : SRR H T 9g-SURT 1 FA 3T TSk STTIAR 40% To-eehi 7 I8 Fqaaima

for 3o wai 7 foret T fordt 99T S99 37faeh hid i <l el o1 |

(1) (A) 3R (R) S W& § iR (A) F1 (R) et ST 3 |
2 (A)ﬂé%m(mwél
3) (A) 7oA € SafH (R) T T
(A)3ﬁ'{ ) ST TR € T (A) T (R) TE TR T g

s NN 2



49. Deontological theory of ethics is concerned with which of the following ?
(a) Duty ethics
(b) Obligation ethics
(c) Rule based ethics
(d) Classical ethics

Code

(1) (a) and (b)

(2) (a) and (c)

(3) () and (d)

4) (a), (b) and (c)

50. Utilitarianism theory of ethics refers to which one of the following ?
(1) Welfare

(2) Duty
(3) Obligation
(4) Rules
-00o0-
s (1T .
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49. ifaemes 1 weeTEta fagr, fefafas § 9, fea Tweifug §2
(a) A ST
(b)  riae =fifasme
c) Tram smenfid Hifaemres

(
(d) G Fifaeme

<

(1) (a) 3R (b)
2 (@) ¥R (Q)
(3) (a) ¥R (d)
4)  (a), (b) (o)

50. ‘faerst =1 SyAfiaEe fagra’ 1 Hohd Fefafed 5 9 frget iR g ?
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MANAGEMENT
PAPER - 111

Note : This paper contains seventy five (75) objective type questions of two (2) marks each.
All questions are compulsory.

1. Match the items of the List - I with those of the List - II and indicate the correct code :

List -1 List - II

(a) Positive income elasticity (i)  Substitute goods
(b) Negative income elasticity (i) Complementary goods
(c) Positive cross elasticity (iii) Inferior goods
(d) Negative cross elasticity (iv) Superior goods
Code

@ () (9 (9
1) @ @ (@v) (i)
2 @O @ (@) (@iv)
(3 (v) @) @ @
4 O @) @ ()

2. For the following two statements of Assertion (A) and Reasoning (R), indicate the correct
code :

Assertion (A) : Ridge Lines in isoquat map set the limits for the positive productivities of
the respective inputs used in the production process.

Reasoning (R) : Isoquants will slope positively if the use of an input is increased beyond the
limit set by the ridge lines.

Code :

1) Both (A) and (R) are correct and (R) is correct explanation of (A)

2) Both (A) and (R) are correct but (R) is not correct explanation of (A)

4 1s not correct but 15 correct

a7 \IIHI“H“II\H\IH LT z

1)
2
(3) (A)is correct but (R) is not correct
(4)




e
99-u - 111

die: T UH-I9 H UEE (75) 9g-fohedtd U €1 U U9E % €1 (2) 3k § 1 |edt ued stfam

1.

g

T - 1! 711 61 Gt - 11 1 911 9 e it te 921 i€ &l 3F i

gt - 1 gt - 11

(a) EHS A ()  feraes s
(b) RONHSE 3T & (i) TRH T
(c) HFIcH ISt o= (i) RSO T U
(d) RUTCHe SATSl o (iv) =AU il T
wiS:

@ () (9 (d
@ @ @ Gv) (i)
@ @ @ @) (i)
@) (@v) @@ @ @
@ @O @v) @ ()

frveEm (A) @ 9k (R) & Ffafaad @ sl & fae 98t @i &l $ia S

oo (A): T e gAfE § wew () e Saared gfshan | ST § el Saafd
& A I HH ScTeeharel sl grandan fHfved =l §

e (R) : I I % Teh WL & ITAN i hedh @1 gRI LR a1 § 31¥eh s i
% O THIIE o5k W1 GIel e B |

WS :

(1) SFT (A) T (R) W € T (R), (A) 1 He = B |

(2) THi (A) TeH (R) T& § Af (R), (A) T T AR T 7

3) (A) W@ T aferT (R) W&l =i ¥

4) (A) T T ® @fe (R) ¥ 2
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3.  For perfect competition, indicate the correct code for essential conditions from the
following :

(a) Large number of buyers and sellers
b) Perfect knowledge of the market
¢) Homogeneous product for sale

(

(

(d) Absence of transportation cost

(e) Freedom of entry and exit of buyers and sellers from the market
(

f)  Rational Behaviour of buyers and sellers

Code
(1) (@), (b), (c), (d) and (f)
(2) (), (c), (d), (¢) and (f)
) (@) (b), (c), (d), (e) and (f)
4 (@) (9) (d), (e) and (f)
4.  Match the items of the List - I with those of List - II and suggest the correct code from the
following :
List - I List - II

(a) GDP (i) National income
(b) GDP at factor cost (i) NDP plus Net flow of income from abroad
(c) NNP at factor cost (iii) Money value of final goods and services produced
(d) NNP (iv) Total gross value added by all enterprises in the economy
Code
@@ (b) (o) (d)
1 O @) @ @)
(2) @) @Gv) @ @)
(®) @Gv) @) @ @
@4 @ @ (@v) (i)

5.  When an individual is motivated to approach two or more positive but mutually exclusive
goals, he is facing which one type of the following conflicts ?

(1) Approach - Approach Conflict (2) Approach - Avoidance Conflict
Avoidance - Avoidance Conflict (4) Person -Role Conflict

a7 \|H||“||H NIRRT
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(a) SIS HEA & shdll Tal fashal
(b) STSIR <1 gof 99
(c) forka 8q T w9 g
(d) A AN hi et
(
(

e) shatsdl o fasharell < STSIR § JoreT & et = i Lol
f) sharedl o foasharsil o1 faaek ol =eRR

4. frafafea get - 1S w1 & gt - 1% 931 9 foam #ifse o 98 s gared

g - 1 g - 11
(a) <t () T e
(b) ETEH ANTd ISl dt () TS W v focw 9 s A gaE
(c) ¥ AN W T T qt (iti) I AR TEGA T JaAreAl b1 a1 § qoo
(d) T (iv) eTefoeen o il SUHH gN SIS T4 Hel Hohel Hed
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@ (b) (9 (d)
® @ @) @) ()
(2) @) @Gv) @ (i)
3) (@v) (@) @) ()
4) @) @) (Gv) (i)

5. 9 T A A AT F RIS g WER Fane @edi i AR sifumfig 8 & fore s1fiafa
BT §, 38 frefafed § 9 o wed €2

(1) st - s g (2) AFFE - IRER Fed
(3) UNER - URER Herd (4) = - yfiem deod
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6. ‘Contact Hypothesis’ is based on the belief that :
(1) the more we interact with someone, the less prejudiced or perceptually biased we will
be against that person
(2) familiarity breeds contempt
(3) contact among group members leads to conflict
(4) mutual discussion leads to reframing of problems
7. According to Vroom's theory of motivation, which one of the following is correct ?
(1) Valence = Force X Expectancy (2) Expectancy = Force X Valence
(8) Valence= Motivation X Force (4) Force = Valence X Expectancy
8.  The process by which sensory information is actively organised and interpreted by brain, is
called :
(1) Attitude (2) Learning (3) Perception (4) Training
9.  Aninterview, in which the applicant is interviewed sequentially by several persons and each
rates the applicant on a standard form, is called :
(1) Unstructured Sequential Interview
(2) Structured Sequential Interview
(3) Job - related Interview
(4) Mass Interview
10. Which of the following are tripartite bodies ?
(a) Indian Labour Conference
(b) Standing Labour Committee
(c) State Level Advisory Boards
Code :
(1) Both (a) and (b)
(2) Both (a) and (c)
(3) Both < ) and ()
(4) (@) (b) and (o
aed [T ;




6. ‘'Hudh - gfieheu’’ 39 HIRIAT W STefa € o
(1) 79 fSaT & ue sfad & Hudh § A € 38 Ul a1 & hH TanE A1 ST uarrd TEd © |
(2) S TEAM STEHMEA 3cd=1 il § |
(3) T USH % HeA Huch HEd I Qe a1 ¥
(4) REAf fomst & el #1 gAvied B B
7. ¥ % SRR fagra % oTuR frafafed § & w8 @ wE § 2
(1) o ="hH x Sl (2) UIHIFRH =HH x JeH
(3) AT =TT x Y (4)  RIE =0 X THRIUFRH]
8. feum & gru sfeaumdl = i1 wisha &9 & wfed wd foafad w1 ot ufshan o1 #ed ¥ -
(1) sfugia (2) HrE (3) 9 (4) e
9. TH UH WaeR, FoH Toawi 1 SR hanTd &9 9 fafv= safeal g feran S € iR swent
oich Tsh FHITaT SR W feman < ], 9 ed © ¢
(1) ET= - oA AT HaehR
(2) T - I FHHAN AR
(3) wH - HEIfEd HEERR
(4) WWfeH HETHT
10. frefafad & & S & Hoeia dwdal €2
(a) 3fUes AR HhHd
(b) EfET TeR HH
() ¥ vioel TSaES og
wie:
(1) () T (b) ST
(2) (a) T (o) SHT
(3) (b) W (c )EE'_"ﬁ
4)  (a), (b)
o7 |\||\|\|||\ 7 Paper




11. Which one of the following theories of labour welfare believes that workers are becoming
more and more aware of their rights and welfare measures can appease them ?

(1)
(2)
(3)
4)

Philanthropic theory
Placating theory
Public Relations theory

Functional theory

12.  Which one of the following is not a characteristic of the “Hot - Stove Rule” of disciplinary
action ?

(1)
(2)
(3)
4)

Discipline is directed against the act and not against anybody else.
Rules and regulations fore-warn regarding consequences of indiscipline.
Consistency of disciplinary action is certain.

Discipline is personal.

13. Which combination of the following statements about the net present value method of the
investment project appraisal is correct ?

(a)
(b)

It considers all the cash flows from the project
It gives more weightage to distant flows than near-term flows

It considers the time value of money

14. Capital structure of a business unit consists of :

1
2

(1)
(2)
(3)
4)

4

||

Equity and preference share capital
Equity, long-term debt and short-term loan
Equity capital and debt capital

Equity, preference and debt capital

H" 8 Paper-1I1



11. fFrafafea #§ 9 fea fagra & T79R gfte st siferil o afa sifemfye smres &1 ® € o) M
FHTATI I F I6 U HL TRl © ?

(1) SRR fagm

(2) 3 L <kl fEg
(3) SH-Hush fagm
(4) wEHE o

12. STRTEATHS wEaE & ‘gl @ '’ &1 frefafed § @ &9 o1 uw aeon 98 €2
(1) STIREs wE & fa&g 2l ¢ 7 o fordt =afam o foes |
2) o iR stfuftam styemes gFar % aRomsi &t g&-<mme 3 <d B |
(3) STIRTEATHS Hhrfame! i fawar ffe=a T

(4) STIA Safde T

4

13. fafrem afEsm & qeaied & ge oadr god i o Ty § fafafed seel o1 e 9 gae
T E?

(a) I IRENSH & F+ft Aehe YAl W &M <Ol 2|
(b) T I % UhS YRl W T Johg Jamel A Ak ot a1 7 |
() I YR % THT God R &M <l S

wiS:

(1) & (a) T (b)
(2) = (b) T (c)
(3) TH (a) T (9)
(4)

a4t (a), (b) T ()

14. T HAEHIGH I & ol grd o i B €
(1) Tmd T e e IS
(2) T, SrERCE R0 T STTehRiei 0l
(3)  ww Ioft o = sl
(4) S, ST T T geit
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15. In the formula kg =BL used for computation of the cost of debt capital, B, denotes as which

0

one of the following ?

1
2

1)
(2)
(3)
4)

4

Net cash inflow at the time of issue
Market price of debenture
Face value of debenture

Probable net cash inflow to debenture holder on sale of the debenture in near future

16. In computation of the weighted average cost of capital, weights are assigned as per :

1
2

(1)
()
®)
4)

4

Proportion of fixed and current assets
Proportion of different sources of finance
Proportion of long-term and short term debts

Proportion of the various components of equity in the business

17. “The customer wants an inexpensive car”. This is an example of which one of the following
type of needs ?

1)
)
(3)
4)

Stated needs
Real needs
Unstated needs

Secret needs

18. Assertion (A) : Marketers are increasingly asked to justify their investments in financial

and profitability terms and rarely in terms of building the brand and
customer base.

Reasoning (R) : Organizations recognize that little of their market value comes from intangible

assets.

Code :

1
2
3

(
(
(
(4

)
)
)
)

vor [

Both (A) and (R) are correct.
Both (A) and (R) are incorrect.
(A) is correct and (R) is the right explanation of (A).

(A) is correct but (R) is not the right explanation of (A).

LT 10




15.

16.

17.

18.

01 YTt T AT hTOET H T G Kd=Bi ¥ B, frfafad & & @ o1ef waar g2
0

1) A % 99 W IS Ths STYaRe |

(1)
(2) RUTYA Rl AR H{eA |
(3)
(4)

3) RO <kl Sfehd Hod |

4)  Trehe wfoss # =poros arl R fasha o weifed Tehe F<adare |

STt sl WRifeRd ST AT <kl TOMT H, R <l ST <1 §
TR Td e AHfd o ST o STER W
o o fafs= €l o STIU o TR ™

(1)
(2)
(3) SrHhIA Te STeqehlei SROT i 3T & STTEN T
(4)

ZEE H FHaT & fafy= oTaail o T4 o 3R W

1) aftfd stewgeRand

aTifaeh STETIHATT

)
3) rafuid STEvIshant
)

AR (A) :  fauuHewatsti &1 sifusrfaes 9 § 3 A &1 fadita & ol & deof o
=EIfed 38T o fordl el S & o1 WER 8wt e sve i v uees
YR o GeH H =riifed 38Uy o ford a1 San & |

T (R) : Sl 1 I8 A § R ot weafasll 9 foreht aem-vea 1wt =2 2t |
1) (A) 3R (R) SH T&l )

(A) 3R (R) T TTerd § |

(A) TE ® 3R (A) 1 (R) TE T €

(A) TE & TR (A) T (R) Te TR0 & § |

2

1)
(2)
(3)
(4)

4
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19. Which one of the following is a false statement ?
(1) The most attractive market segment is one in which entry barriers are low and exit
barriers are high.
(2) A market segment is unattractive when there are actual or potential substitutes for the
product.
(3) A market segment is unattractive if buyers possess strong or growing bargaining power.
(4) A segment is unattractive if the company’s suppliers are concentrated or organized.
20. Match the items of List - I with that of List - II and suggest the correct code :
List - I List - II
(Pricing Strategies) (Explanations)
(a) Customary pricing (i) Ending a price with 99 paise
(b) Skimming (i) pricing a product based on perceived expectations
of customers
(c) Penetration pricing (iii) Setting a high price which gradually reduces as
competitors enter the market
(d) Psychological pricing (iv) Offering at a low price for a new product during its
initial offering
Code :
@ ®) (© (@
W O @ (v G
@ @ @ @) 0
@) G @ @@ 6
@ O @ @) )
21. Which one of the following OR Models is appropriate for project planning and scheduling
operations ?
(1) Games Models (2) Inventory Models
(3) Network Models (4) Queuing Models
22.  While obtaining the optimal solution to the linear programming problem, by using graphical
method, which one of the following is contradictory to the essential requirements ?
(1) Collection of all feasible solutions entails the use of a convex set
(2) There are infinite number of basic feasible solutions within the solution space
(38) In the convex set of the feasible solutions, atleast one of the extreme points gives an
optimal solution
(4) The value of the objective function will be the same for all convex combinations of the
extreme points if such points are more than one in the feasible solution space
s [ 3
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20.
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22.

frefafed § & &H 91 FuF o €2
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(2) % ISR WUE STIRYS ¢ Sl SIS o ATEdforsh 3T HTfed THIe ScTe 2 |

(3) T INIR GUS TAHYS © AfG Uesh §¢ AU Jfgehel W@ i I & B |

(4) TUH ISR TRRYS § AfC HP & Sgfderal Gehfed ste@n Gifad o |

el - 1 &1 931 o1 el - 11 1 7a) § gafad i iR Fie § 981 S| H 994 HIfT

et - 1 T - 11
(e Trerivor ife ) ( TreETeRTuT )
(a) Temd qea fruRo () 99 T8 R T A
(b) HAE Hed e (ii)  TITEhI ST TUET T &AM B Wad T 3 1 goo fefeo
() A goF fFuRy (iii) 3= Hed FraRo oiR gfaeafi=i & g @ i o g
HH HAT |
(d) TS goa i (iv) TR H SR I IR H AR 999 59 i HH Hiud
peceil
IS :
@@ () (9 (d
1 @ @) Gv) (@)
2) @) @) @) @
3) (v) (@) (@) ()
4) @@ (@) () (iv)

frefafed sf.emR (OR) TfaaHl § 9§ A o1 IRASHT & A1 IR Sl Sl SFEE 9 F & fag
BERENCI
(1) G giae= (2) &feEn giE
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2) & fomaR H MURYT v Tl bt HeA STEfd T
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23. For calculating Economic Order Quantity (EOQ), you are given the following formula :

2DC

EOQ = TO

When Let D=Demand
R=Rate of replenishment
L=Lead time
Cp = Unit purchase price
G, = Unit holding cost
C,=Unit ordering cost
C,=Shortage cost
Q=Quantity to be ordered

This inventory model is suitable for which one of the following situations ?

(1) Economic Order Quantity Model with uniform demand

(2) Economic Order Quantity Model with variable demand
(8) Economic Order Quantity Model when shortages are permitted
(4) Economic Order Quantity Model with gradual replenishment

24. While using Markov Analysis, which one of the following assumptions is incompatible ?
(1) The system has an infinite set of possible outcomes
(2) Transition probabilities are constant over a given length of time
(3)  The condition of the system in any given period depends on preceding period condition
(4) Changes in the system may occur only once during each period

25. Statement - I: A hypothesis test for comparing the variances of two independent populations
with the help of variances of two small samples is known as chi-square test.

Statement - II : To test the hypothesis that the population standard deviation has a specific
value on the basis of the values of sample standard deviation of small sized
sample, F-test is relevant.

(1) Both the statements are correct

(2) Both the statements are incorrect

(3) Statement - I is correct while Statement - II is incorrect
4)

Statement - I is incorrect while Statement - II is correct

orrs [N
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24.
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26.

27.

28.

orry [ HIFHINN

Statement - I : A sampling distribution of mean, prepared on the basis of small sized samples

from a population which is not normally distributed, is not normally
distributed.

Statement - II : To test the significance of the difference between means of two small sized

samples when the parameter values of the standard deviations are given,
Z-test can be applied.

Code :

Both the statements are correct

Both the statements are incorrect

Statement - I is correct while Statement - II is incorrect

Statement - I is incorrect while Statement - II is correct

Which one of the following is restricted non-probability based sampling method ?

Stratified sampling
Quota sampling
Cluster sampling

Systematic sampling

Statement - I :  When a null hypothesis is true but as per the hypothesis- testing, it is rejected;

it is known as Type II error in hypothesis-testing.

Statement - II : For testing the significance of the differences among the performance of

more than two sample groups when the data are non-parametric,
Kruskal-Wallis (H) test is appropriate.

Code :

Both the statements are correct
Both the statements are incorrect
Statement - I is correct while Statement - 1II is incorrect

Statement - I is incorrect while Statement - II is correct
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29. Match the items of List - I with those of List - II and choose the correct code :

List - I List - II

Greenfield Investments (i)  Unique product or services sold in domestic market
targeting international markets through its customers

Turnkey Projects (i) Typical North-American-process for rapid market
expansion

Piggy Backing (iii) Itisthe most costly investments and holds the highest
risk

Franchising (iv) A project where the facility is built from the ground
and turned over to the client ready to go

@ () (9 (d

(i) (@v) @ ()

(i) (@v) @) @

(i) @ @ @)

(@v) (@) @) (D)

30. Which of the following statements is not correct about strategic management ?

(1)

It involves formulation and implementations of minor goals
It involves initiatives taken by the top management
It is based on consideration of resources

It includes assessment of internal and external environment of organization

31. Which one among the following is not a correct statement ?

(1)

ANZ Grindlays merged with American Express Bank to emerge competatively

Apple computers uses differentiation competitive strategy to emphasize innovative
product

Operating strategies are implemented at departmental level

Corporate strategy describes a company’s overall direction towards growth by managing
business and product line

32. Statement - I: Trade Policy Review Body is a forum for the entire membership to review

the trade policies of all WTO members.

Statement - II : The WTO administers the “Trade Review Mechanism”.
Code :

1)
(2)
()
4)

v |

Statement I is correct but II is incorrect
Statement II is correct but I is incorrect
Both the statements I and II are correct

Both the statements I and II are incorrect
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33. In order to make special allocation of fiscal resources to MSMEs, which one of the following
proposals was introduced in the budget of 2015-16 ?

1)
()
(3)
4)

Micro Units Development Refinance Agency (MUDRA) Bank.
MSME Bank

Swachchha Bharat Abhiyan Vikas Kosh

Self-Employment and Talent Utilisation (SETU) Bank

34. The support for Entrepreneurial and Managerial Development of Small and Medium
Enterprises (incubator) scheme of the National Manufacturing Competitiveness Programme
(NMCP) aims to which one of the following ?

(1)
(2)
®)

4)

To provide Startup financial support to new ventures.
To provide financial support to existing MSMEs.

To provide supporting and nourishing business based new ideas in knowledge
institutions.

To build awareness on intellectual property rights for the MSMEs

35. The relationship between subsidy and incentive can appropriately be brought out by which
one of the following propositions ?

(1)

Incentives are concessions, bounties offered to borrow money to set up a production
activity, while subsidy is a non cash concession given to translate idea into productive
action

Incentives and subsidies are cash disbursement only to the intrapreneur
Incentives and subsidies are non-cash motivating factor to promote a new enterprise

Incentives are financial as well as non financial stimuli encouraging to undertake
productive activities ; while subsidy pertains to a single lumpsum payment given by
the government to an entrepreneur for compensating him for the excess cost over
administered price of a product or service

36. Industrial parks fall under which one of the following categories ?

1)
(2)
®)
(4)

N-01717 ‘m”“"“"u

General industrial clusters
Specialised industrial clusters
Conglomeration of heterogenous group of enterprises under one umbrella

Integrated comprehensive business centres
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37. Which one among the following countries does not favour gender equality ?
(1) Sweden (2) USA (3) Denmark (4) Saudi Arabia
38. Assertion (A) : Bad corporate governance can cast doubt on a company’s reliability.
Reasoning (R) : Companies that do not cooperate sufficiently with auditors can publish
non-compliant financial results.
Code :
(1) Both (A) and (R) are correct and (R) is the right explanation of (A).
(2) Both (A) and (R) are correct but (R) is not the right explanation of (A).
(3)  (A) is correct but (R) is incorrect.
(4) (R) is correct but (A) is incorrect.
39. Which one among the following is not a part of Corporate Social Initiatives ?
(1) Socially-responsible business practices
(2) Corporate social marketing
(3) Cause-related marketing
(4) Corporate ambience building
40. Which among the following are also called Corporate Social Responsibility ?
(a) Corporate Conscience
(b) Corporate Citizenship
(c) Responsible Business
Code :
(1) (a) and (b)
(2) (@), (b)and (©)
(3) (a) and (9
(4) () and (9
41. Which one of the following consists of both vertical sequence of jobs and a series of horizontal
opportunities ?
(1) Network Career Path (2) Cafeteria Career Path
(3) Transitory Career Path (4) Spiral Career Path
arr [ HERURRAN 8
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42. Arrange the following steps of disciplinary actions in correct sequence.
(a) Complaint (b) Issue of charge sheet
(c) Preliminary fact finding d) Consideration of explanation

(
(e) Suspension pending enquiry (f) Holding of enquiry
(

(g) Order of punishment h) Appeal
Code :

1) @) (@ (b) (d), (e) () (g) (h)

2) (@) (b), (c), (d), (e), (), (8) ()

©3) (@) () (b) (9), () (£), (g) ()

@) (@) (d), (b) (9) (o), (), (8) ()

43. Who among the following is known for application of Psychology to industry and
management ?

(1) Thomas Peters (2) Chester Barnard
(3) Mary Parker Follett (4) Hugo Munsterberg

44. The Right to strike is a
(1) Fundamental right
(2) Legal right

(3) Right under directive principles of state policy

(4)  Social right of employee

45. Which one of the following is not an unfair labour practice ?
(1) Use of force to prevent a worker from attending work

2) Staging demonstration at residence of managerial staff members

(2)
(3) Damaging property of employer
(4)

Going on unauthorised leave

46. Who was the founder of Madras Labour Union ?

(1) N.M. Joshi (2) N.M . Lokhande
(3) B.P. Wadia (4) V.V.Giri
aed [T 2
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47.

48.

49.

50.

51.

|

Who said that wages always tend to be equivalent to subsistence level ?

(1)

Keynes (2) Ricardo (3) Walker (4) Pigou

‘Kanban’ refers to which one of the following ?

—

)
2

(

(2)
(3)
(4)

Employing sufficient manpower

An ideal state in which production quantities are equal to delivery quantities
Promotion of right people

Both (1) and (3)

Which one of the following represents a system where by an employer regularly deducts a
portion of employee’s wage to pay subscription fee of trade union ?

(1)

Checkout (2) Checkin (3) Settlement (4) Checkoff

According to Five-Stage Model of the Consumer Buying Process, which one of the following
sequence is followed ?

1)

Purchase Decision — Problem Recognition — Information Search — Post Purchase
Behaviour — Evaluation of Alternatives

Evaluation of Alternatives — Purchase Decision — Information Search — Post Purchase
Behaviour — Problem Recognition

Information Search — Evaluation of Alternatives — Purchase Decision — Problem
Recognition — Post Purchase Behaviour

Problem Recognition — Information Search — Evaluation of Alternatives — Purchase
Decision — Post Purchase Behaviour

Match the items of List - I with the items of List - I and select the correct code of matching :

E - Commerce Companies)

List -1 List - IT

(Product Categories)

Voylla Retail (i) Kids and baby products
Limeroad (i) Imitation Jewellery
First cry.com (iii) Furniture and home decor
Pepperfry (iv) Fashion and life style

@ () © @

0 G @ @)

() (v 6 @

@ G O @)

@@ @ iv)  (iii)

) @) @) (
TN
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52.  Which one of the following refers to the use of online and offline promotion techniques to
increase the audience of a site ?
(1) Search-engine optimization
(2) Traffic building campaign
(3) Search-engine marketing
(4)  Quality score
53. Match the items of List - I with the items of List - II and select the correct code of matching :
List - I List - II
(Type of store Retailers) (Formats)
(a) Speciality store (i)  Broad selection of high-mark up, fast moving, brand-
name goods sold by a list
(b) Drug store (i) Narrow product line
(c) Super store (iii) Prescription and pharmacies
(d) Catalogue showroom (iv) Huge selling space
Code :
@@ (b) () (d)
1) (v) @) @ @
2 @ @ (@) (i)
() @) @@ @) @
@ @) (@) @Gv) @)
54. On which one of the following, the corporate advertising concentrates ?
(1) Brand Personality (2) Product Personality
(8) Organizational Personality (4) Recruitment
55. Which one of the following represents Polycentric orientation of the management ?
(1) Each host country is unique
(2) Home country is superior
(3) Sees similarities and differences in markets and countries
(4) Sees similarities and differences in a world region
s (TR 2




52.

53.

54.

55.

Teh IS o ¥k ol 9gH & T fT=faiad § ¥ fohaen! STHeEA qe SThaied JIcdTed qohriih bl
YR ST Il § 2

(1) |- AfeAESIYH

(2) <ftheh fafegn <o
(3) HH-3o fauqud
(4) TR @hR

Tt - [ &l A1 1 G - 11 & 761 § Ao HhifSe T §el SIS o1 =97 it |

T - 1 Tt - 11

(FHEHT IR & WHN ) (uTET)

(a) Tafdre gem () S HA 9w, I T Al q9 S T ard S,
et forsha T =i 810 B 8, o1 faga = |

(b) <A I gHA (i) GeRIvl IS H@rer
(© YRIFA (iti) TN Tor, T
(d) hednT I ®H (iv) Tomme forsra wom
S :

@@ () (9 (d
1) Gv) @@ @) ()
2 @) @ Gv) (i)
@) (@) @@ @) @
4) (@) @) @) @

frrefafed § @ fva w frm @ wrafaa fagmm wfad 2 g?
(1) SUS Hfekicd (2) SR Al
(3) HSH AferTce (4) Wl

frefafed 8 ¥ i Jor & agh=ia STRATIA T gfdifee siar § 2
(1) 93 enfade < foeter 2|
2) T IS TI
(3) IR e 39§ G TS Sl S8 |
v & § HHHAT T 3T<RI 1 <&l § |

a7 ||H|\|H||||H|||H||H\||||H|HI\|H|\|II\\||\||\||\|\|II\ 2



56. Which one of the following refers to “attributes or benefits that consumers strongly associate
with a brand, positively evaluate, and believe they could not find to the same extent with a
competitive brand” ?

(1) Points-of-attributes (2) Points-of-difference

(8) Points-of-parity (4) Points-of-purchase

57. Match the items of List - I with the items of List - II and select the correct code of
matching :

List - I List - II
(Advertising Agencies) (Clients)

(a) Ogilvy and Mather Ltd (i) HDEC

(b) JWT Hindustan Thompson Associates (i) Coca-Cola

(¢) Mudra Communications (iii) Vodafone

(d) McCann- Erikson India Ltd (iv) Nestle

Code

@ (® (9 (9

O @ 6 @ W)

@ @ 6 @ )

@) (v G O (@

@) @ @) 0O @

58. For the following two statements indicate the correct code :

Statement - I : Advertising is any paid form of personal presentation and promotion of
ideas, goods, or services by an identified sponsor.

Statement - II : Sales promotion consists of most long-term incentive tools, designed to
stimulate greater purchase of particular products or services by consumers
or the trade.

Code

(1) Both the statements are correct

(2) Both the statements are incorrect

(3) Statement I is correct but statement II is incorrect

(4) Statement II is correct but Statement I is incorrect
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59. Vertical merger is the merger of two firms which are involved in which one of the following
forms ?
(1) Similar line of business
(2) Different stages of distribution and production in same business activity
(3) Different and unrelated business activities
(4) Partly similar line of business and partly in different unrelated business activities
60. The cost arising out of the failure of the customers to meet their obligations when payment
on credit sales become due after the expiry of the credit period, may be attributed to which
one of the following ?
(1) Collection Cost (2) Default Cost
(3) Delinquency Cost (4) Attrition Costs
61. In derivative contract, settlement by offset, denotes which one of the following ?
(1) Settlement of a maturing futures contract by cash payment in order to offset the mutual
obligation on the contract
(2) Closing out a futures contract before maturity with an offsetting trade
(3) Terminating a futures contract by executing a new contract by way of payment of
cash in a mutually agreed proportion
(4) A fresh contract is entered into by discarding the earlier contract outside the exchange
62. Purchasing power parity theory signifies which one of the following ?
(1) Ability to exchange one currency for another at a given conversion rate and in terms of
the usability of a currency for foreign transactions
(2) Which states that exchange rates between currencies are in equilibrium when their
purchasing power is the same in each of the two countries
(3)  When one party of an economic transaction has equal degree of information in currency
market about it and shared equally to arrive at uniform foreign exchange selection
decision
(4) No one party can significantly influence foreign exchange rate in the market and all
will be guided by asymmetric information
63. When a direct quote of the home currency or any other currency is not available in the forex
market, it is computed with the help of exchange quotes of other pairs of currencies, is referred
to by which one of the following ?
(1) Cross rate (2) Arbitrage rate (3) Transaction rate (4) Translation rate
aed [T 8
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64. In a derivative transaction, the term margin denotes to which one of the following ?

1)

Cash or collateral provided by a customer to a broker to protect the broker from loss on
a contract

Cash or collateral provided by a broker to a customer to protect the customer from loss
on contract

A broker’s request for more collateral to bring a customer’s margin requirement to a
premium margin level

A customer’s request for more collateral to bring a broker’s margin requirement to a
minimum standard level

65. In the area of corporate risk management, systematic risk fulfils which one of the following
conditions ?

1)

Systematic risk is unavoidable; this is the contribution of an individual asset to the risk
of market portfolio.

Systematic risk is avoidable by an investor, and it can be eliminated by diversification.
The level of systematic risk in an asset cannot be measured by the beta coefficient.

The expected return-beta relationship is referred to as Systematic Market Line (SML).

66. The difference between a forward trade and a derivative may be attributed to which one of
the following ?

1)

The position of owning a good that one plans to sell in the future, the position of
expecting to purchase the good in the future

The parties agree to trade at a specified time in the future, at a price set now; a derivative
involves only payments of money, with no delivery of any commodity or assets

The parties agree to trade at a future time, at a price to be decided in future ; a derivative
involves payments at a future specified time along with physical delivery of any
commodity or asset

The parties agree to trade and the amounts to be paid or received will not depend on
the value at that time

67. Multilateral Investment Guarantee Agency (MIGA), an affiliate of World Bank, aims to address
which one of the following ?

1)

v |

To promote comparative advantage among the trading nations to foster international
trade

To promote a platform for dispute settlement mechanism in world trade guarantee

To encourage foreign direct investment in developing countries by protecting investors
from non-commercial risk

To promote international trade in goods and intelligence services
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68. Under foreign exchange risk measurement, economic risk emerges out of which of the
following ?
(a) Riskiness of company’s foreign exchange positions resulting from its business activities.
(b) Theholding period or length of time over which the foreign exchange position is planned
to be held.
(c) A change in the present value of the future after tax cash flows due to changes in
exchange rates.
(d) The unit of currency to be used for the denomination of the value of currency.
Code :
(1) (a) only (2) Both (a) and (b) (3) (c) only (4) (d) only
69. Regional trading block agreement among USA, Canada and Mexico is formed and named
by which one of the following ?
(1) North American Free Trade Region
(2) North American Free Trade Agreement
(3) North and Central American Free Trade Agreement
(4) North American Free and Tariff Trade Agreement
70. If a bank in India, SBI, has an account with citibank, Newyork, and another Indian Bank,
Allahabad Bank, wants to refer to that account while corresponding with citibank, Newyork,
the Allahabad Bank would refer to which one of the following accounts ?
(1) Loro account (2) Mirror account
(3) Vostro account (4) Mix of Nostro and Vostro account
71. Treaties of Rome (1957) was responsible for creation of which one of the following ?
(1) European Economic Community (EEC)
(2) General Agreement on Tariffs and Trade (GATT)
3) WTO
(4) General Agreement on Trade in Services (GATS)
72. Agreement on Trade Related Investment Measures (TRIMS) under WTO regime aims to
address which one of the following measures ?
(1) Protection of investment in creation of Intellectual Property Rights (IPRs)
(2) No member shall apply any measures in violation of the national treatment principles
of GATT and discriminate against foreigners or foreign products
(3) It does not prohibit investment measures that place a restriction on quantities and
measures requiring a certain percentage of local procurement
(4) Itencourages measures which limitimports or set targets for exports and trade balancing
requirements
s (TR ”
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73. In international marketing, export documentation framework engulfs which one of the

following ?

(1) Export census documents compiled by the department of commerce
(2) Shipper’s Export Declarations (SEDs)

(8) Foreign commercial service including websites of individual countries
(4) All of the above

74. In dispute resolution mechanism of the WTO regime, the collapse of the Doha Round talks at
Cancun in September 2003 has been attributed to which one of the following ?

(1)
(2)
(3)
4)

Subsidies in agriculture and agricultural domestic support policies of developed nations
Measures on protecting intellectual property rights of innovators
Agreement on Textiles and Clothing (ATC) under Multi-Fibre Arrangement

Trade in the shape of individuals travelling to foreign countries to supply services

75. In international financial environment for settlement of debts there is a practice known as
netting practice. The netting practice pertains to which one of the following ?

(1)

A practice by which subsidiaries of affiliates within the TNC network settle
inter-subsidiary debts for the net amount owed during the post-transaction period.

A practice involving the sale of export accounts receivable to a third party within the
TNC network.

A practice of purchasing an account receivable where the credit term exceeds the
permissible limit within the TNC network.

Where the difference between international transaction of gross capital account
receivables and payables are settled against current account receivables and payables.
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